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सामा�य नि��श :  

न���न�नित न���श� को बह�त सावधा�ी से पन�ए और उ�का स�ती से पा�� क�न�ए :  

(i) इस ��-प� म� 34 �� ह� । सभी �� अनिवाय� ह� ।  
(ii) ��येक �� के अकं उ�के साम�े अनंकत ह� ।  
(iii) उ�र संन�� तथा नबं�वुार हो�े चानहए ।  
(iv) 3 अकं� के ��� के उ�र 50 स े75 श��� म� न�ि े�ा�े चानहए ।  
(v) 4 अकं� के ��� के उ�र �गभग 150 श��� म� न�िे �ा�े चानहए । 
(vi) 6 अकं� के ��� के उ�र �गभग 200 श��� म� न�ि े�ा�े चानहए । 
(vii) ��येक �� के सभी भाग� के उ�र एक साथ न�िे �ा�े चानहए ।  

 
�� सं�या 1 से 20 तक बह�नवक�पीय �� (MCQ)  ह�, न��म� ��येक 1 अकं का है ।  20´ 1=20 

1. ‘यदि ��येक व�त ु के द�ए एक द�द�त �था� ह ै और वह उस �था� पर उप��ध ह,ै तो 
�यवसाय/कारखा�े क� द�याओ ंम� कोई �यवधा� उ�प�� �ह� होगा ।’  
उपयु�� कथ� �ारा �काद�त �बंध का दस�ा�त ह ै:  

(A) अ��ुास�  (B) �यव�था  

(C) द�ि�� क� एकता  (D) सहयोग क� भाव�ा  

2. �खर द�दमटेड जीव�र�क औषदधय� के उ�पािक ह� । िो वष� पवू� �� ूका �कोप ह�आ तथा यह �ी� 
ही फै� गया तथा इससे बह�त �ोग �भादवत ह�ए । �खर द�दमटेड �े �ोध तथा दवकास पर अ�यदधक 
द�व�े दकया तथा इसके द�ए एक िवा के दवकास म� सफ� ह�ई । िवा ��ू क� रोकथाम म� बह�त �भावी 
ह�ई तथा अब यह मरीज� के द�ए आव�यक हो गई । इसके प�रणाम�व�प, िवा क� मा�ग कई ग�ुा ब� 
गई । िवा क� मा�ग को �या� म� रखकर, क�प�ी �े िवा का म�ूय ब�ा दिया । सरकार द�थदत पर �या� 
रख रही थी । �य�दक �� ूपर द�यं�ण क� केव� यही एक िवा थी, ज�ता के द�ए इसे वह� कर�े यो�य 
ब�ा�े के द�ए सरकार �े इसे एक आव�यक िवा घोदषत कर दिया और इसक� क�मत को द� यंद� त 
दकया । 

द���द�दखत म� से उपयु�� द�थदत म� चदच�त म�ूय द�धा�रण को �भादवत कर�े वा�े कारक� क� पहचा� 
क�दजए :  
(i) उ�पाि� �ागत  
(ii) उपयोग क� गई दवपण� दवदधया�  
(iii) उपयोदगता तथा मा�ग  
(iv) सरकारी तथा दवदधक द�यम�  
(A) केव� (iv)  (B) (i), (iii) तथा (iv) 
(C) (iii) तथा (iv) (D) (i), (ii) तथा (iii)  
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General Instructions :   

Read the following instructions very carefully and strictly follow them : 

(i) This question paper contains 34 questions. All questions are compulsory.   
(ii) Marks are indicated against each question.  
(iii) Answers should be brief and to the point.  
(iv) Answers to questions carrying 3 marks may be from 50 to 75 words.  
(v) Answers to questions carrying 4 marks may be in about 150 words.  
(vi) Answers to questions carrying 6 marks may be in about 200 words. 
(vii) Attempt all parts of a question together.  

Questions no. 1 to 20 are Multiple Choice Questions (MCQs), carrying 1 mark each. 20%�1=20 

1. ‘If there is a fixed place for everything and it is present there, then there will be no 
hindrance in the activities of business/factory.’  
The principle of management that is highlighted in the above statement is :  
(A) Discipline  (B) Order  
(C) Unity of direction  (D) Esprit de corps  

2. Prakhar Ltd. is the manufacturer of life-saving drugs. There was an outbreak of 
flu two years back that spread quickly and affected many people. Prakhar Ltd. 
made huge investment on research and development and was able to develop a 
medicine for the same. The medicine was very effective in controlling the flu and 
now it has become a necessity for the patients. As a result, the demand for the 
medicine increased manifold. Considering the demand, the company increased the 
price of the medicine. The government observed the situation. Since it was the 
only available medicine to combat flu, the Government declared it as an essential 
medicine and regulated its price to make it affordable for the public.  
From the following, identify the factor(s) affecting the determination of price 
discussed in the above case :  
(i) Product cost  
(ii) Marketing methods used  
(iii) Utility and demand  
(iv) Government and legal regulations 
(A)  (iv) only (B) (i), (iii) and (iv)  
(C) (iii) and (iv)  (D) (i), (ii) and (iii)  
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3. ‘यदि कम�चा�रय� क� ओर से कोई रच�ा�मक सझुाव आता ह,ै तो �बंध को अप�े का� बिं �ह� कर� े
चादहए अदपत ुउ�के सझुाव� से यदि �ागत म� पया�� कमी आती ह,ै तो उ�ह� इसके द�ए परु�कृत दकया 
जा�ा चादहए ।’ 

उपयु�� कथ� म� वै�ाद�क �ब�ध के दकस दस�ा�त क� चचा� क� गई है ?  

(A) दव�ा� प�दत , � दक अ�गठूा टेक द�यम  

(B) सहयोग, � दक टकराव  

(C) सहयोग, � दक �यद�वाि  

(D) ��येक �यद� का उसक� अदधकादधक �मता एव ंसमदृ� के द�ए दवकास  

4. द���द�दखत कथ�� को पद�ए : अदभकथ� (A) तथा कारण (R) । �ीचे दिए गए दवक�प� म� से सही 
दवक�प का चय� क�दजए :  

 अनभकथ� (A) : �ाभां� द�ण�य �ेते समय, �दतधा�रत �ाभ क� सीमा फम� के दव�ीय� द�ण�य को 
भी �भादवत करती है ।  

 कारण (R) :  फम� को �दतधा�रत �ाभ के बराबर प�ु:द�व�े के द�ए कोष� क� आव�यकता �ह� 
होती है ।  

(A) अदभकथ� (A) तथा कारण (R) िो�� स�य ह� तथा कारण (R), अदभकथ� (A) क� सही 
�या�या है ।  

(B) अदभकथ� (A) तथा कारण (R) िो�� स�य ह�, पर�त ुकारण (R), अदभकथ� (A) क� सही 
�या�या िह�  है । 

(C) अदभकथ� (A) स�य है, पर�त ुकारण (R) अस�य ह ै।  

(D) अदभकथ� (A) अस�य है, पर�त ुकारण (R) स�य ह ै। 

5. उपभो�ा संर�ण अदधद�यम, 2019 के अ�सुार, एक व�त ुअथवा सेवा से असंत�ु हो�े पर उपभो�ा 
को द�कायत कर�े तथा स�ुवाई का अदधकार ह ै।  

यहा� संिदभ�त उपभो�ा अदधकार है ___________ :  

(A) सरु�ा का अदधकार   

(B) स�ुवाई का अदधकार   

(C) सदूचत हो�े का अदधकार    

(D) द�वारण पा�े का अदधकार  
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3. ‘The management should not close its ears to any constructive suggestions made 
by the employees but reward them for their suggestions which results in 
substantial reduction in costs.’  

Which principle of scientific management is discussed in the above statement ?  

(A) Science, Not Rule of Thumb 

(B) Harmony, Not Discord  

(C) Cooperation, Not Individualism  

(D) Development of Each and Every Person to His or Her Greatest Efficiency 
and Prosperity  

4. Read the following statements : Assertion (A) and Reason (R). Choose the correct 
alternative from the options given below :  

 Assertion (A) : While taking dividend decision, the extent of retained earnings 
also influences the financing decision of the firm.  

 Reason (R) : The firm does not require funds to the extent of re-invested 
retained earnings.  

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 
correct explanation of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

5. As per the Consumer Protection Act, 2019, the consumer has a right to file a 
complaint and to be heard in case of dissatisfaction with a good or a service.  
The consumer right being referred to here is ___________ : 

(A) Right to Safety   

(B) Right to be Heard  

(C) Right to be Informed   

(D) Right to Seek Redressal  
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6. द���द�दखत म� से कौ�-सा दवक�प �बंध� के ‘संगठ�’ काय�  क� �द�या म� चरण� के सही अ�ु�म 
को ि�ा�ता है ?  

(A) दवभागीकरण ® काय� क� पहचा� तथा दवभाज� ® वतृांत (�र पोदट�ग� स�ब�ध �थाप� ® 
कत��य� का द�धा�रण  

(B) दवभागीकरण ® काय� क� पहचा� तथा दवभाज� ® कत��य� का द�धा�रण ® वतृांत 
(�र पोदट�ग� स�ब�ध �थाप� 

(C) काय� क� पहचा� तथा दवभाज� ® वतृांत (�र पोदट�ग� स�ब�ध �थाप� ® कत��य� का द�धा�रण 
® दवभागीकरण 

(D) काय� क� पहचा� तथा दवभाज� ® दवभागीकरण ® कत��य� का द�धा�रण ® वतृांत 
(�र पोदट�ग� स�ब�ध �थाप� 

7. द���द�दखत म� से कौ�-सा म�य-�तरीय �बंध का काय� िह�  है ? 
(A) उ�च �बंधक� �ारा ब�ाई गई �ीदतय� क� �या�या कर�ा 

(B) अप�े दवभाग के द�ए आव�यक कम�चा�रय� को सदु�द�त कर�ा 
(C) दवदभ�� दवभाग� क� गदतदवदधय� म� सम�वय/सामंज�य �थादपत कर�ा 

(D) अप� ेदवभाग� के कम�चा�रय� को आव�यक काय� एव ंउ�रिादय�व स�प�ा 

8. �ीचे दिए गए दच� म� पैकेदजगं का/के �तर ह/ैह� :  

  

(A) केव� �ाथदमक �तर  

(B) �ाथदमक एव ंद�तीयक �तर  

(C) �ाथदमक, द�तीयक एव ंप�रवह� पैकेदजंग �तर  

(D) �ाथदमक तथा प�रवह� पैकेदजगं �तर  
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6. Which of the following options denotes the correct sequence of steps in the 
process of ‘Organizing’ function of management ? 

(A) Departmentalisation ® Identification and division of work ® Establishing 
authority and reporting relationships ® Assignment of duties 

(B) Departmentalisation ® Identification and division of work ® Assignment 
of duties ® Establishing authority and reporting relationships 

(C) Identification and division of work ® Establishing authority and reporting 
relationships ® Assignment of duties ® Departmentalisation  

(D) Identification and division of work ® Departmentalisation ® Assignment 
of duties ® Establishing authority and reporting relationships  

7. Which of the following is not a function of middle level management ?  

(A) To interpret the policies framed by the top management 
(B) To ensure that their department has the necessary personnel 

(C) To coordinate the activities of different departments 

(D) To assign necessary duties and responsibilities to the personnel in their 
departments 

8. The level(s) of packaging shown in the picture given below is/are :  

                  
(A) Primary level only  
(B) Primary and secondary levels  
(C) Primary, secondary and transportation packaging levels  
(D) Primary and transportation packaging levels    
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9. �तंभ I म� दिए गए बा� भत� के दवदभ�� �ोत� के वण�� का दम�ा� �तंभ II म� दिए गए �ोत� से 
क�दजए ।  
 �तंभ I  �तंभ II 
1. सभी रो�गार चाह�े वा�� तथा उप��ध रो�गार के अवसर, िो�� 

से संबंदधत सचू�ा �िा� कर�े के उ�े� य से दड�ाइ� क� गई तथा 
समदप�त वेबसाइट  

(i) �ती�ा सचूी  

2. दवदभ�� पि� के द�ए यो�य �यद�य� क� भत� के द�ए �यावसादयक 
घरा�� का द��ा सं�था�� के साथ संपक�   

(ii) वेब �सारण  

3. उ�म के सचू�ा-प� पर उप��ध पि� के दववरण के साथ �गाई गई 
सचू�ा  

(iii) कै�पस/महादव�ा�य/
दव�दव�ा�य भत�  

4. �र द� त या� भर�े के द� ए काया��य म� आए अद�यदमत आवेिक� से 
�ा� आवेि�� से तैयार तथा जा�च दकया गया डेटाबेस  

(iv) ��य� भत�  

द���द�दखत म� से सही दवक�प का चय� क�दजए :  
(A) 1-(iii), 2-(i), 3-(iv), 4-(ii) (B) 1-(i), 2-(iii), 3-(iv), 4-(ii) 
(C) 1-(ii), 2-(iv), 3-(i), 4-(iii) (D) 1-(ii), 2-(iii), 3-(iv), 4-(i) 

10. जब द�मा�ताओ ं�ारा ��य� �प से दब�ा दकसी म�य�थ को सद�मद�त दकए अदंतम उपभो�ाओ ंको 
व�तएु� बेची जाती ह� तो उपयोग दकया गया दवतरण का मा�यम है :  
(A) ��ूय-�तरीय मा�यम (B) एक-�तरीय मा�यम  
(C) द�-�तरीय मा�यम (D) ती�-�तरीय मा�यम  

11. अ�ोक इडं��ी� द�दमटेड, ऑटोमोबाइ� इडं��ी� के द�ए पजु� ब�ा�े वा�ी एक क�प�ी ह ै । इस 
क�प�ी म� सभी उ�पाि� गदतदवदधय� के द�ए मा�क द�धा��रत दकए गए ह�, दजसम� �द�या, क�चे मा�, 

समय, उ�पाि, म�ी�री तथा दवदधय� का मा�क�करण सद�मद�त है दज�का पा�� उ�पाि� के समय 

दकया जा�ा चादहए । इस �कार �ा� उ�पादित साम�ी गणुव�ा म� सव��े� होगी । क�प�ी के फोरम�ै, 

मेहरा, � ेकामगार� के काय� को इस �कार दड�ाइ� दकया ह ैदक अ�ाव�यक चा� िरू हो (हट� जाए� 

तथा काय� को कु��तापवू�क परूा कर� ेम� कम समय �ग े। उस�े फै�टरी म� कामगार� को िी जा सक� े

वा�ी आराम क� अवदधय� के अ�तरा�� तथा आवदृ�य� का व�ैाद�क �प से दव�ेषण दकया तादक 
उ�ह� आतं�रक ब� प�ु:�ा� हो तथा व ेकु��ता से काय� कर पाए ।  

उपयु�� अ��ुछेि म� वै�ाद�क �बंध क� द���द�दखत म� से कौ�-सी तक�ीक क� चचा� िह� क� गई है ?  
(A) थका� अ�यय�  
(B) दवदध अ�यय�  
(C) गदत अ�यय�  
(D) मा�क�करण तथा सर�ीकरण  
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9. Match the explanation of different sources of external recruitment given in 
Column I with the sources given in Column II.  

 Column I  Column II 
1. Websites designed and dedicated for the purpose 

of providing information about both, job seekers 
and job openings  

(i) Casual Callers  

2. Liaison of business houses with the educational 
institutes to recruit qualified personnel for various 
jobs  

(ii) Web Publishing  

3. Notice placed on the notice-board of the enterprise 
specifying the details of the jobs available  

(iii) Campus 
Recruitment  

4. Database of unsolicited applicants in the office, 
prepared and screened to fill vacancies  

(iv) Direct Recruitment  

Choose the correct option from the following :  
(A) 1-(iii), 2-(i), 3-(iv), 4-(ii) (B) 1-(i), 2-(iii), 3-(iv), 4-(ii) 
(C) 1-(ii), 2-(iv), 3-(i), 4-(iii) (D) 1-(ii), 2-(iii), 3-(iv), 4-(i) 

10. When the products are sold by a manufacturer to the end consumer without 
involving any intermediary, the type of channel of distribution used is :  
(A) Zero level channel  (B) One level channel 
(C) Two level channel (D) Three level channel 

11. Ashok Industries Ltd. is a company manufacturing components for automobile 
industries. In this company, standards have been set for every manufacturing 
activity including standardisation of process, raw material, time, product, 
machinery and methods which must be adhered to during production. This has 
been done to bring excellence in quality of the materials produced. The foreman 
of the company, Mehra, has designed the jobs of the workers in such a manner 
that unnecessary movements are eliminated and it takes less time to complete the 
jobs efficiently. He has also scientifically analysed the duration and frequency of 
rest intervals that should be provided to the workers in the factory so that they can 
regain stamina and work efficiently.  
Out of the following, which technique of scientific management has not been 
discussed in the above paragraph ?   
(A) Fatigue study  
(B) Method study  
(C) Motion study  
(D) Standardisatrion and simplification  
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12. ��ांत �े एक फुटकर दकरा�े का �यवसाय आरंभ दकया । ऑ��ाइ� �ॉदपंग क� ब�ती ह�ई �ोकद�यता 
के कारण, इस �यवसाय म� �दतयोदगता क� मा�ा बह�त अदधक ह ै । इससे काय��ी� पू�जी क� 
आव�यकता अदधक होगी �य�दक �ाहक� से त�का� आि�े� को परूा कर�े के द�ए उसे अदंतम 
व�तओु ं(तैयार मा�� के �टॉक क� अदधक आव�यकता होगी । काय��ी� पू�जी क� आव�यकता को 
�भादवत कर�े वा�ा कारक है :  

(A) क�चे मा� क� उप��धता (B) संचा�� का �तर   

(C) �दतयोदगता का �तर  (D) म�ुा �फ�दत   

13. अपणा� एव ंद�यंका एक क�प�ी ‘�ेया इडं��ी�’ म� काय�रत ह�, जो मदह�ाओ ंके द�ए ब�े-ब�ाए व�� 
का �यापार करती ह ै। ��येक को 5 दि�� के अिंर ₹ 1,000 �दत पो�ाक क� �ागत से 10 पो�ाक� के 
द�मा�ण का िादय�व स�पा गया । अपणा� 5 दि�� के अिंर ₹ 1,100 �दत पो�ाक क� �ागत पर  
10 पो�ाक� का द�मा�ण कर सक�, जबदक द�यंका ₹ 900 �दत पो�ाक क� �ागत पर 5 दि�� के अिंर 
केव� 8 पो�ाक� का द�मा�ण कर सक� ।  

उपयु�� के संबंध म� द���द�दखत म� से कौ�-सा कथ� सही है ?  

(A) अपणा� कु�� ह ै�ेदक� द�यंका �भावपणू� है ।    

(B) अपणा� �भावपणू� ह ै�ेदक� द�यंका कु�� ह ै।  

(C) अपणा� तथा द�यंका िो�� �भावपणू� ह� । 

(D) अपणा� तथा द�यंका िो�� कु�� ह� । 

14. कथ� I :  उपभो�ा संर�ण अदधद�यम, 2019 के अ�सुार, दज�ा कमी�� के पास उ� द�कायत� 
पर दवचार कर�े का अदधकार-�े� है जहा� �दतफ� के �प म� भगुता� क� गई व�तओु ंया 
सेवाओ ंका म�ूय ₹ 10 करो� से अदधक �ह� होता ।  

 कथ� II : यदि कोई भी प� दज�ा कमी�� के आि�े से संत�ु �ह� ह,ै तो वह इस आिे� के दव�� 
आि�े क� दतदथ से प�ता�ीस दि�� के भीतर सा�य अथवा का��ू के आधार पर रा�य 
कमी�� के सम� अपी� कर सकता है ।  

द���द�दखत म� से सही दवक�प का चय� क�दजए :  

(A) कथ� I स�य है तथा कथ� II अस�य है ।  

(B) कथ� II स�य है तथा कथ� I अस�य है । 

(C) िो�� कथ� स�य ह� ।   

(D) िो�� कथ� अस�य ह� ।  
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12. Prashant started a grocery retail business. Due to increasing popularity of online 
shopping, the degree of competition is very high in this business. His requirement 
of working capital will be high as he would have to hold larger stocks of finished 
goods to meet urgent orders from customers. The factor affecting the requirement 
of working capital is :    

(A) Availability of raw material (B) Scale of operations   

(C) Level of competition   (D) Inflation   

13. Aparna and Priyanka are working in ‘Shreya Industries’, a company dealing in 
readymade garments for women. Each of them was assigned the responsibility of 
producing 10 dresses each within 5 days at a cost of ₹ 1,000 per dress. Aparna was 
able to produce 10 dresses at a cost of ₹ 1,100 per dress within 5 days, whereas 
Priyanka was able to produce only 8 dresses at a cost of ₹ 900 per dress in 5 days.  

Which of the following statements is correct with respect to the above ?  

(A) Aparna is efficient but Priyanka is effective.  

(B) Aparna is effective but Priyanka is efficient.  

(C) Both Aparna and Priyanka are effective.  

(D) Both Aparna and Priyanka are efficient.  

14. Statement I : As per the Consumer Protection Act, 2019, the District 
Commission has a jurisdiction to entertain complaints where value 
of goods or services paid as consideration does not exceed ₹ 10 
crores.  

Statement II : If any of the parties is not satisfied by the order of the District 
Commission, they can appeal against such order to the State 
Commission on the grounds of facts or law within a period of 
forty-five days from the date of order.  

Choose the correct option from the following : 
(A) Statement I is true and Statement II is false.    
(B) Statement II is true and Statement I is false. 
(C) Both the Statements are true. 
(D) Both the Statements are false.  
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15. कथ� I :  अ�ंधा�रय� के कोष म� �दतफ� के भगुता� या पू�जी के पु�भु�गता� क� वच�ब�ता 

सद�मद�त होती है ।  

 कथ� II : ॠण कोष� के सभी �ोत� म� से सबसे स�ता �ोत मा�ा जाता है तथा �याज पर कर क� 
कटौती इसे और अदधक स�ता ब�ा िेती है ।  

द���द�दखत म� से सही दवक�प का चय� क�दजए :  

(A) कथ� I स�य है तथा कथ� II अस�य है ।   

(B) कथ� II स�य है तथा कथ� I अस�य है । 

(C) िो�� कथ� स�य ह� ।   

(D) िो�� कथ� अस�य ह� ।  

16. �टे��री व�तओु ंका �यापार कर�े वा�ी एक क�प�ी टी-पे�स द�दमटेड म� यह द�ण�य द�या गया दक 

सभी �य ए के द�दमटेड से उधार दकए जाए�ग े तथा उधार अवदध �य�ूतम 7 दि�� क� होगी । यह 

इसद�ए दकया गया �य�दक कोई अ�य क�प�ी उधार सदुवधा का ��ताव �ह� ि ेरही ह ै।  
उपयु�� अ��ुछेि म� दकस �कार क� योज�ा संिदभ�त ह ै? 

(A) द�यम   (B) �ीदत  

(C) दवदध   (D) �यहू-रच�ा  

17. टेकपैक द�दमटेड हिैराबाि क� एक क�प�ी ह ै जो पैकेदजगं साम�ी का उ�पाि� करती ह ै तथा इसे  

बी-टू-बी e-�यवसाय �कार म� िे�भर म� दवदभ�� उ�ोग� को बेचती है । यह एक गदत�ी� क�प�ी है । 

वष� से ज�वाय ुप�रवत�� के कारण तथा भारतीय �ाहक� क� पसंि म� पया�वरण-दहतैषी उ�पाि� के �दत 
बि�ाव के कारण क�प�ी �े जैव-द���ीकरणीय पैकेदजगं साम�ी के उ�पाि� क� तरफ �था�ांतरण कर 

द�या ह ै। इसके अदत�र�, इसके दडदजट� �पांतरण के कारण, क�प�ी को अ�यदधक �ाभ ह�आ ह ै

�य�दक इसके �ाहक ऑ��ाइ� आिे� िे सकते ह� तथा दवदभ�� ऑ��ाइ� तरीक� से रोक�रदहत 
भगुता� कर सकते ह� ।  

उपयु�� द�थदत म� चदच�त �यावसादयक पया�वरण के आयाम ह� :  

(A) आदथ�क तथा सामादजक पया�वरण  

(B) सामादजक तथा �ौ�ोदगक�य पया�वरण  

(C) �ौ�ोदगक�य तथा आदथ�क पया�वरण   

(D) सामादजक तथा राज�ैदतक पया�वरण 
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15. Statement I : Shareholders’ funds involve commitment regarding the payment 
of returns or the repayment of capital.  

Statement II : Debt is considered to be the cheapest of all the sources of funds 
and tax deductability of interest makes it still cheaper.  

Choose the correct option from the following : 

(A) Statement I is true and Statement II is false.    

(B) Statement II is true and Statement I is false. 

(C) Both the Statements are true. 

(D) Both the Statements are false.  

16. In T-pex Ltd, a company trading in stationery items, it was decided that all 
purchases would be made from AK Ltd. on credit basis with credit period of at 
least 7 days. This was done because no other company was offering credit facility.   
Which type of plan has been referred to in the above paragraph ?  

(A) Rule   (B) Policy  

(C) Method  (D) Strategy  

17. Techpack Ltd. is a company in Hyderabad that produces and sells packaging 
material to various industries across the nation in a B2B e-business form. It is a 
dynamic company. Over the years, due to rising concerns for climate change and 
shift of preferences of Indian customers towards environment-friendly products, 
the company has shifted to the production of biodegradable packaging material. 
Moreover, due to its digital transformation, the company has tremendously 
benefited as its customers could place orders and make cashless payments in 
various online modes.  

The dimensions of business environment discussed in the above case are :  

(A) Economic and social environments  

(B) Social and technological environments  

(C) Technological and economic environments  

(D) Social and political environments  
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18. ‘अ�पका�ी� द�वे� द�ण�य’ के द�ए द���द�दखत म� से कौ�-सा कथ� स�य है ?  
(A) ये िीघ�-अवदध म� �यवसाय क� उपाज�� �मता को �भादवत करते ह� ।   
(B) इ� द�ण�य� म� सामा�यत: ब�ी मा�ा म� दवद�वे� सद�मद�त होता है ।  
(C) ये द�ण�य �यवसाय क� तर�ता एव ं�ाभ�िता को �भादवत करते ह� ।  
(D) इ�को एक ब�ी भारी �ागत के अ�ावा प�रवदत�त �ह� दकया जा सकता । 

19. ‘वी.के. पद��क �कू�’ म� क�ा XII के द�ए एक अ�ंेजी अ�यापक का �था� �र� ह ै। आविे�� क� 
�ाथदमक जा�च के बाि 10 अ�यादथ�य� को सचूीब� दकया गया । अब दव�ा�य �बंध� �े अ�यादथ�य� 
से क�ा XII के पाठ्य�म से स�बद�धत एक द�ि��� पाठ ि�ेे के द�ए कहा । इ� द�ि��� पाठ� का 
उ�े�य अ�यादथ�य� के दव�मा� अ�याप� कौ�� तथा पे� ेक� कु��ता को माप�ा था ।   
उपयु�� द�थदत म� ‘वी.के. पद��क �कू�’ �ारा उपयोग म� �ाई गई चय� परी�ा के �कार को  
पहचाद�ए :  

(A) कौ�� परी�ा (B) बदु� परी�ा 

(C) �यापार परी�ा (D) �यद��व परी�ा 

20. ‘आिे� क� एकता’ के दस�ा�त का उ�े�य है दक :   

(A) यह िोहरी अधी��थता को रोकता है । 

(B) यह संगठ�ा�मक दहत� के द�ए �यद�गत दहत� को समदप�त करता ह ै।   

(C) यह कम�चा�रय� के बीच एकता एव ंसामजं�य क� भाव�ा को ब�ावा ितेा ह ै।  

(D) यह द�ण�य �े�े के अदधकार को उ�च �तर पर केद��त करता है ।  

21. (क� दव�ीय� द�ण�य को �भादवत कर�े वा�े दक�ह� ती� कारक� का उ��ेख क�दजए ।  3 

 अथवा 

(ख� भारतीय �दतभदूत तथा दवद�मय बोड� के दक�ह� ती� सरु�ा�मक काय� का उ��ेख क�दजए ।  3 

22. धीरे� पटे� एक िधू �द�यण क�प�ी का म�ुय काय�कारी अदधकारी ह ै। वह एक बह�त �भावी �बंधक 

ह ै। वह अप�े काय� म� काफ� �यवद�थत ह ैतथा अ�कुरणीय �यवहार �िद��त करता ह ै।  

धीरे� पटे� इस बात पर �ोर ितेा ह ै दक सं�ेषण के सभी उ��ेय� हते ुसंगठ� के सभी �बंधक� तथा 

अधी��थ� को ऊपर से �ीचे क� तरफ जा�े वा�ी एक अदधकार �ृंख�ा का अ�सुरण कर�ा चादहए ।  

उपयु�� द�थदत म� �काद�त �बंध के सामा�य दस�ा�त क� पहचा� क�दजए तथा समझाइए ।  3 
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18. Which of the following statements is correct for ‘short term investment  
decisions’ ?  
(A) They affect the earning capacity of a business in the long run.  
(B) These decisions normally involve huge amounts of investment.  
(C) These decisions affect the liquidity as well as profitability of a business.  
(D) They are irreversible except at a huge cost.  

19. ‘V.K. Public School’ had a vacancy for an English teacher for Class XII. After 
preliminary screening of the applications, they shortlisted 10 candidates. Now, the 
school management asked the candidates to give a demonstration lesson related to 
the curriculum of Class XII. The purpose of these demonstration lessons was to 
measure the existing teaching skills of the candidates and proficiency in the area 
of profession.  
Identify the type of selection test used by ‘V.K. Public School’ in the above case :  
(A) Aptitude test  (B) Intelligence test  
(C) Trade test  (D) Personality test  

20. The purpose of the principle of ‘unity of command’ is that :  
(A) It avoids dual subordination.  
(B) It subordinates individual interests to organizational interests. 
(C) It promotes a team spirit of unity and harmony among employees.  
(D) It concentrates decision-making authority at the top level.  

21. (a) State any three factors affecting financing decision.  3 
 OR 

(b) State any three protective functions of Securities and Exchange Board of 
India. 3 

22. Dhiren Patel is the Chief Executive Officer of a milk processing company. He is a 
very effective manager. He is quite organized in his work and exhibits exemplary 
behaviour.  

 Dhiren Patel insists that all managers and subordinates in the organization should 
follow a chain of authority that runs from top to bottom for all communication 
purposes. 

 Identify and explain the general principle of management highlighted in the above 
case.  3 
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23.  (क� ‘�ोकतांद�क �ेत�ृव’ �ै�ी को समझाइए ।  3 

 अथवा 

(ख� ‘एक बदु�मा� �बंधक को सं�ेषण के अ�ौपचा�रक मा�यम� के सकारा�मक पह�ुओ ं का 
उपयोग कर�ा चादहए तथा इस मा�यम के �कारा�मक पह�ओु ं को कम उपयोग कर�ा  
चादहए ।’ 

 उपयु�� कथ� के �का� म�, सं�ेषण के अ�ौपचा�रक मा�यम के दकसी एक सकारा�मक तथा 
दक�ह� िो �कारा�मक पह�ओु ंको समझाइए ।  3 

24. एक �ोकद�य पद�का �े संपणू� दव� म� पि� म� कटौती के दवषय म� एक �ेख छापा । उसम� उद� �दखत 
था दक �ागत कम कर�,े बा�ार क� ि�ा तथा �ौ�ोदगक�य �गदत के कारण दपछ�े वष� म� सचू�ा 
�ौ�ोदगक� के �े� म� �गभग िो �ाख �ोग� �े रो�गार खोया ।  

 इसे भारत क� एक सॉ�टवेयर डेव�पम�ट क�प�ी टेकवायर द�दमटेड के कम�चा�रय� �ारा प�ा गया तथा 
इस पर चचा� क� गई । इससे उ�के अिंर बह�त अ�ांदत उ�प�� हो गई तथा उ�का म�ोब� कम हो गया । 
कम�चा�रय� क� उ�पािकता म� कमी आ�ी आरंभ हो गई । क�प�ी के म�ुय काय�कारी अदधकारी को 
कम�चा�रय� के म� य उ�के रो�गार के दवषय म� असरु�ा क� भाव�ा दिखाई िी । एक �ेता के �प म� 
अप�ी भदूमका को समझते ह�ए, उस�े कम�चा�रय� को उ�क� भावी आय तथा रो�गार के दवषय म� 
आ��त करते ह�ए सभी कम�चा�रय� को एक ई-मे� द�खी ।  

 इस सं�ेषण �े कम�चा�रय� को म�ोव�ैाद�क तथा भाव�ा�मक संतदु� िी तथा इससे उ�के द��पाि� म� 
सकारा�मक प�रणाम ि�ा�ए । म�ुय काय�कारी अदधकारी अधी��थ को दब�ा कोई मौद�क �ो�साह� 
दिए उ�ह� संगठ� के उ��ेय� को �ा� कर�े के द�ए वांदछत तरीके से काय� कर�े म� सफ� रहा ।  
(i) कम�चा�रय� के द��पाि� म� सुधार के द�ए म�ुय काय�कारी अदधकारी �ारा उपयोग दकए गए 

�ो�साह� क� पहचा� क�दजए तथा समझाइए ।  
(ii) उपयु�� द�थदत म� मॉ��ो के आव�यकता अ�ु�म दस�ा�त के अ�सुार कम�चा�रय� क� दजस 

आव�यकता क� संतदु� ह�ई ह ैउसका उ��ेख क�दजए ।  3 

25. एक ज�पा�-गहृ के माद�क, अ�मो� पाठक, �े िखेा दक एक वष� क� अवदध म� क�चे मा�, प�रवह� 
तथा पैकेदजंग क� �ागत ब� गई । इसके प�रणाम�व�प कु� �ागत 15% ब� गई । उस�े सोचा दक 
संगठ� म� ��येक गदतदवदध क� जा�च कर�ा आसा� काय� �ह� था, इसद�ए उस�े इ� ती� �ागत� म� ह�ई 
ब�ोतरी का गहराई से अ�यय� कर�े का द�ण�य द�या । उस�े �ागत म� अपेद�त ब�ोतरी तथा 
वा�तदवक ब�ोतरी क� �ीचे िी गई एक सारणी तैयार क� ।  
�. सं. �यय  �ागत म� अपेन�त ब�ोतरी  �ागत म� वा�तनवक ब�ोतरी  

1. क�चा मा�  4% 7% 

2. प�रवह�  10% 8% 

3. पैकेदजगं  10% 20% 

�बंध के एक काय� से संबंदधत उ� िो अवधारणाओ ंको समझाइए दज�का उपयोग अ�मो� पाठक �ारा 
दवच��� का दव�ेषण कर�े के द�ए दकया जाएगा ।  4 
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23. (a) Explain ‘Democratic (Participative� style of leadership’.  3 
 OR 

(b) ‘An intelligent manager should make use of positive aspects of informal 
channels and minimise the use of negative aspects of this channel of 
communication.’  

 In the light of the above statement, explain any one positive and any two 
negative aspects of informal channels of communication.  3 

24. A popular magazine published an article on job cuts across the globe. It stated that 
due to reasons like cost cutting, market conditions and technological 
advancement, almost two lakh people in the IT sector have lost their jobs during 
the last year.  
This was read and discussed by employees of Techwire Ltd. a software 
development company in India. It created a lot of unrest among them and their 
morale came down. The productivity of the employees started declining. The 
Chief Executive Officer of the company observed the insecurity among the staff 
about their jobs. Understanding his role as the leader, he wrote an e-mail to all the 
employees assuring them about the stability of their future income and job.  
This communication gave the employees psychological and emotional satisfaction 
and showed positive results in terms of their performance. The Chief Executive 
Officer was able to make the subordinates  act in a desired manner to achieve the 
organizational goals, without giving them any monetary incentives.  
(i) Identify and explain the incentive used by the Chief Executive Officer to 

improve the performance of the employees.  
(ii) State the need of the employees as per Maslow’s Hierarchy of Needs 

theory which was satisfied in the above case.  3 

25. Anmol Pathak, a restaurant owner, observed that over a period of one year, the 
costs of raw material, transportation and packaging had increased. As a result the 
total cost had increased by 15%. He thought that it was not easy to keep a check 
on each and every activity in the organisation, so he decided to study deeply the 
increase in these three costs. He prepared a table of acceptable and actual increase 
in cost as given below :  
S.No. Expense Acceptable increase in cost Actual increase in cost 

1. Raw material  4% 7% 

2. Transportation  10% 8% 

3. Packaging  10% 20% 
Explain the two concepts related to a function of management that will be used by 
Anmol Pathak to analyse the deviations.  4 
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26. म�ुा बा�ार का अथ� िीदजए । द���द�दखत के आधार पर पू�जी बा�ार एव ंम�ुा बा�ार म� अ�तभ�ि 
क�दजए : 4 
(i) ��ेख  
(ii) तर�ता  
(iii) संभादवत �दतफ� 

27. ई�ा� पा�च �ीटर सरस� का ते� खरीि�ा चाहता था । बा�ार म� जा�े से पह�े उस�े बा�ार म� उप��ध 
सरस� के ते� के दवदभ�� �ा�ड� के बारे म� जा��े के द�ए इटंर�ेट सफ�  दकया । फुटकर िकुा� पर पह��च� े
पर उसे पा�च दवदभ�� �ा�ड के सरस� के ते� पता च�े, पर�त ुउसको आ� चय� ह�आ दक उ�म� से केव� 
एक पर ‘FSSAI’ �मादणकता वा�ा दच� था, उस�े इसी को �य कर�े का द�ण�य द�या । उस�े ते� 
के कंटे�र पर �ग े �ेब� को म�ूय तथा ते� का भार पता �गा�े के द�ए प�ा । ते� के म�ूय का 
भगुता� करते समय उस�े यह सदु�द�त दकया दक रोकद�या उसे �गि रसीि ितेा ह ै।  

ई�ा� एक द� �मेिार �ाहक था । �से दक�ह� चार उ�रिादय�व� का उ��ेख क�दजए दज�ह� सरस� का 
ते� खरीिते समय ई�ा� �े �या� म� रखा ।  4 

28. (क� �बंध के द�ि��� काय� के एक त�व के �प म� ‘अदभ�ेरणा’ क� दक�ह� चार दव�ेषताओ ंको 
समझाइए । 4 

 अथवा 

(ख� कम�चा�रय� को अदभ�े�रत कर�े के द�ए उपयोग क� गई दक�ह� चार दव�ीय �ो�साह�� को 
समझाइए ।  4 

29. दस�क द�दमटेड क� �दत अं� आय ₹ 1 थी । उस�े एक ब�क से 10% वादष�क �याज क� िर से ₹ 10 
�ाख का ॠण द�या । एक वष� प�ात ्प�रणाम द��� �कार से थे :  

नववरण  रानश  

समता (अं�धारक द�दधया��  
(₹ 10 ��येक के 2,00,000 अ�ं�  

₹ 20 �ाख  

10% ॠण ₹ 10 �ाख 

�याज तथा कर पवू� आय ₹ 6 �ाख 

�दत अ�ं आय  ₹ 2 

कर िर 20% थी ।  

(i) ॠण के उपयोग से दस�क द�दमटेड क� �दत अ�ं आय म� ब�ोतरी �य� ह�ई ?  

(ii) यदि क�प�ी क� �याज तथा कर पवू� आय ₹ 3 �ाख होती, तब �या ॠण का उपयोग क�प�ी 
के द�ए �ाभिायक होता ? समझाइए ।  4 
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26. Give the meaning of Money Market. Distinguish between Capital Market and 
Money Market on the basis of the following :  4 
(i) Instruments  
(ii) Liquidity 
(iii) Expected returns 

27. Ishaan wanted to buy five litres of mustard oil. Before he went to the market, he 
surfed the Internet to find out about the various brands of mustard oil available in 
the market. On visiting the retail shop, he could find five different brands of 
mustard oil but to his surprise, only one of them had ‘FSSAI’ certification mark, 
which he decided to buy. He read the label on the oil container to find out the 
price and weight of the oil. While paying for the oil he ensured that the cashier 
gave him the cash memo.  

 Ishaan was a responsible consumer. State any four responsibilities that Ishaan kept 
in mind while purchasing the mustard oil. 4 

28. (a) Explain any four features of ‘Motivation’ as an element of the directing 
function of management.  4 

 OR 

(b) Explain any four financial incentives used to motivate employees.  4 

29. Silk Ltd. had an EPS of  ₹ 1. It raised a loan of ₹ 10 lakhs at an interest rate of 
10% p.a. from a bank. After one year, the results were as follows :  

Details Amount 

Equity (Shareholders’ Funds�  
(2,00,000 shares of ₹ 10 each) 

₹ 20 Lakh 

10% Loan  ₹ 10 Lakh 

Earning Before Interest and Tax (EBIT) ₹ 6 Lakh 

Earning Per Share (EPS) ₹ 2 

Tax rate 20%. 

(i) Why did EPS in Silk Ltd. rise with the use of debt ?  
(ii) If EBIT of the company would have been ₹ 3 lakh, would using debt still 

be favourable for the company ? Explain.  4 
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30. (क� स��ेषण क� दक�ह� चार म�ोव�ैाद�क बाधाओ ंको समझाइए ।     4 

 अथवा 

(ख� स��ेषण क� बाधाओ ंको िरू कर�े के द�ए कोई चार उपाय समझाइए ।   4 

31. द�िा� सेवाओ ंम� ‘हे�थ �र�ै�स द�दमटेड’ भारत का एक अ�णी उपभो�ा �वा��य-िेखभा� �ा�ड  
ह ै। इसके पास संपणू� ि�े म� एक�कृत द�िा� के��� का �ेटवक�  है । अप�े दव�तार के द�ए क�प�ी �ए 
माग� क� खोज कर रही थी । उ�च �तरीय �बंधक� �े �यावसादयक पया�वरण का दव�ेषण दकया तथा 
पता �गाया दक �य�दक वष� 2023 को मोटा अ�ाज का अतंररा��ीय वष� घोदषत दकया ह,ै अत: यह 
आ�ा थी दक मोटे अ�ाज क� वैद�क मा�ग �गभग 5% �दतवष� ब� जाएगी । �य�दक भारत मोटे 
अ�ाज का एक अ�णी उ�पािक तथा द�या�तक ह ैयह अ�ुभव दकया गया दक मोटे अ�ाज उ�ोग म� 
अ�यदधक �यावसादयक अवसर थे । द�िे�क म�ड� �े मोटे अ�ाज से ब�े रोटी, �डू�स तथा डोसा 
दम� के दव�य-�यवसाय को बा�ार म� उतार�े के दवचार क� अ�मुदत �िा� क� ।  

क�प�ी को अप�े को प�ु:संरदचत कर�ा प�ा । यह दवदभ�� �कार क� उ�पाि �ेदणय� म� दवदवधता �ाई 
तथा अ�ग-अ�ग �यवसाय इकाइय� को सद�मद�त करते ह�ए एक ढा�चे का द�मा�ण दकया । ��येक 
इकाई का एक �बंधक था, जो द��पाि� के द�ए उ�रिायी था तथा दजसका ��येक इकाई पर अदधकार 
था । उ�पादित दकए गए दवदभ�� उ�पाि� के आधार पर मा�व �द� का समहूीकरण दकया गया ।   

(i) प�ु:संरच�ा के प�ात ् हे�थ �र�ै�स द�दमटेड के संगठ�ा�मक ढा�चे के �कार क� पहचा� 
क�दजए तथा इसका अथ� िीदजए ।   

(ii) उपयु�� द�थदत म� पहचा�े गए संगठ�ा�मक ढा�चे के �कार के कोई िो �ाभ तथा िो हाद�य� क� 
�या�या क�दजए । 6 

32.  (क� वै�ाद�क �बंध क� द���द�दखत तक�ीक� को समझाइए :     6 

(i) समय अ�यय� 

(ii) दवभेिा�मक पा�र�दमक �णा�ी 

(iii) काय� का �मापीकरण एव ंसर�ीकरण  

 अथवा 

(ख� �बंध के द���द�दखत दस�ा�त� को समझाइए :    6 

(i) अदधकार एव ंउ�रिादय�व   

(ii) के��ीकरण एव ंदवके��ीकरण  

(iii) पह��मता 
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30. (a) Explain any four psychological barriers to communication.   4  

 OR 

(b) Explain any four measures to overcome the barriers to communication.  4  

31. ‘Health Relax Ltd.’ is one of India’s leading consumer healthcare brands in 

diagnostic services. It has an integrated nationwide network of diagnostic centers. 
The company was exploring new avenues for its expansion. The top level 
managers analysed the business environment and found that since the year 2023 
was the International Year of Millets, it was expected that the global demand for 
millets will grow by around 5% annually. India being one of the leading producer 
and exporter of millets, it was realised that there was a great business opportunity 
in the millet industry. The Board of Directors approved the idea of venturing into 
the business of selling bread, noodles and dosa mix made of millets.  

The company had to restructure itself. It diversified into varied product categories 
and created a structure comprising of separate business units. Each unit had a 
manager responsible for performance who had authority over the unit. Manpower 
was grouped on the basis of different products manufactured.     

(i) Identify the type of organizational structure of Health Relax Ltd. after 
restructuring and give its meaning.  

(ii) Explain any two advantages and two disadvantages of the type of 
organisational structure identified in the above case.  6 

32. (a) Explain the following techniques of Scientific Management :    6 

(i) Time study   

(ii) Differential piece wage system  

(iii) Standardization and simplification of work 
 OR 

(b) Explain the following Principles of Management :   6 

(i) Authority and Responsibility  

(ii) Centralization and Decentralization   

(iii) Initiative 
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33. बी जे �ाइवेट द�दमटेड ‘�योर �ाइ�’ �ा�ड �ामक जैदवक ��प ूका उ�पाि� कर�े वा�ी एक क�प�ी ह ै। 

यह �ाम क�प�ी को उ�पाि दवभेिीकरण म� सहायता करेगा । �द� त बा�ार म� �ाहक� क� 

आव�यकताओ ंको परूा कर�े के द�ए क�प�ी �े �ाकृदतक अवयव� जैसे करी प�ा, �ीम, चाव� आदि 

का �योग दकया । क�प�ी का के��-दबंि ु�ाहक� क� आव�यकताओ ंक� संतदु� ह ै । ��प ूक� अदधक 

मा�ग �े�े के द�ए इस�े बा�ार म� उप��ध अ�य ��पओु ंक� त�ु�ा म� कम म�ूय द�धा�रण का द�ण�य 

द�या । ��प ूके बारे म� तथा इसक� दव�षेताओ ंआदि को �ाहक� को सदूचत कर�े के द�ए क�प�ी �े 

दवदभ�� �वत�� तरीक� का उपयोग दकया । �ाहक� क� अदधकतम संतदु� तथा �ाहक� क� द�कायत� 

का द�पटा� कर�े हते ुक�प�ी �ाहक सेवा के�� के दववरण भी �िा� कर रही ह ै।  

उपयु�� अ��ुछेि म� चदच�त दवपण� के दक�ह� ती� काय� क� पहचा� क�दजए तथा समझाइए ।  6 

 

34.  (क� औपचा�रक एव ंअ�ौपचा�रक संगठ� म� कोई चार दब�ि ुितेे ह�ए अ�तभ�ि क�दजए ।    6 

 अथवा 

(ख� द�योज� क� दक�ह� चार सीमाओ ंको समझाइए ।  6 
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33. BJ Pvt. Ltd. is a company manufacturing organic shampoos with the brand name 

‘Pure Shine’. This name will help the company in creating product differentiation. 
To satisfy the needs of the customers in the target market the company used 

natural ingredients like curry leaves, neem, rice, etc. The focus of the company is 

on satisfaction of customers needs. To have higher demand of shampoo it decided 
to fix a lower price in comparison to the other shampoos available in the market. 

To inform the customers about the shampoo and its features etc., the company 

used various promotional tools. For maximum satisfaction of customers, the 
company provides the contact details of the customer care centre to handle 

customer complaints. 

Identify and explain any three functions of marketing discussed in the above 
paragraph.  6 

34. (a) Distinguish between formal and informal organization by giving any four 
points.   6 

 OR 

(b) Explain any four limitations of planning.    6 
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  अत्यंत गोपनीय - केवल आंतरिक एवं सीमित प्रयोग हेत ु
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 व्यावसाययक अध्ययन 
 अपेक्षक्षत उत्ति /िूलयांकन ब दं ु
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1 
 

सामान्य निरे्दश: 

1. आप इस बात से भली भाांतत अवगत है कि ववद्यार्थी िे वास्तववि व सही मूलयाांिन में जााँच एि महत्त्वपूर्ण प्रकिया है। इसमें 
हुई छोटी सी त्रुटट भी ववद्यार्थीयों िे ललए भववष्य िी लिक्षा िे ललए व लिक्षर् पेिे िे ललए गांभीर सम समस्या खड़ी िर सिती 
है। इन त्रुटटयों से बचने िे ललए आप से अनुरोध है कि इस मूलयाांिन िो आरांभ िरने से पूवण आप स्पॉट इवैलयूएिन िे तनरे्दिों 
िो ध्यान से पढिर समझ लें। 
 

2. मूलयाांिन नीतत िा सांबांध सांचाललत परीक्षाओां िी गोपनीयता से है यह मलूयाांिन व उसिे िई आयामों स ेजड़ुी है जनसाधारर् 

में इसिी जानिारी पूरी परीक्षा प्रर्ाली िो पटरी स ेउतार . लाखों परीक्षार्र्थणयों िे जीवन िो भववष्य में प्रभाववत िर सिता है। 
इस र्दस्तावेज़ िो किसी िे सार्थ साझा िरने, किसी प्रिार िी पत्रत्रिा, समाचार पत्र अर्थवा वेबसाइट पर प्रिािन आई पी सी 
िी धाराओां िे अन्तगणत िायणवाही िो आमांत्रत्रत िरेगा 

 

3. मूलयाांकि अांक योजिा में दर्दए गए निरे्दशों के आधार पर होिा चादहए। ि कक व्यक्ति विशेष की अपिी व्याख्या 
अथिा विचार के आधार पर| अांक योजिा का पालि सख्िी से होिा चादहए हालाांकक उि उत्तरों को जाांचिे के ललए 
जो की ििीििम सचूिा अथिा ज्ञाि ि अमिनव सूचना पर आधाररि है, उन्हें उिकी शुद्धिा के आधार पर उचचि 
अांक दर्दए जाए| कक्षा xii में र्दो प्रश्ि र्दक्षिा आधाररि है िो कृपया दर्दए गए उत्तर को समझिे का प्रयास करें, चाहे 
उत्तर अांक योजिा के अिुसार ि हो परन्िु उिर ठीक है िो उचचि अांक दर्दए जाए|  

 

4. अांियोजना में िेवल अपेक्षक्षत उत्तरों िे त्रबन्र्द ुटर्दए गए है। यह िेवल मागणर्दिणन है सांपूर्ण उत्तर नही। ववद्यार्थी अपने तरीिे से 
अलभव्यक्तत िर सिता है। यटर्द अलभव्यक्तत ठीि हो तो उस ेउत्तर िे अनुसार अांि टर्दए जाए।  

 

5. प्रधाि परीक्षक को प्रत्येक परीक्षक द्िारा जाांची गई प्रथम पाांच उत्तर पुक्तिकाओां की जाांच करिी है और यह रे्दखिा है कक अांक 

योजिा के निरे्दशों का पूर्ण रूप से पालि हो रहा है या िहीां। यह सुनिक्श्चि होिे के बार्द ही परीक्षकों को बाकक की उिर-
पुक्तिकाए ँजाांचिे के ललए र्दी जाए की जाांच में कोई महत्िपूर्ण विचलि िहीां है।  

 

6. प्रत्येक सही उत्तर पर मूलयाांकि किाण (√) का निशाि लगाए िथा गलि उत्तर के ललए (X) का निशाि लगाए। गलि उत्तर पर 
सही जैसा निशाि बिा और कोई अांक ि रे्दकर भ्रम की क्तथनि से बचे। यह मूलयाांकि किाणओां द्िारा की जािे िाली सबसे 
साधारर् गलिी है। 

 

7. यदर्द प्रश्ि के कई भाग है िो प्रत्येक भाग पर र्दादहिी ओर अांक है। किर उस प्रश्ि के सभी भागों के अांक जोड़कर उसे बाई और 
ललखे ओर उसपर गोला लगा र्दें। इस बाि का कड़ाई से पालि करें।  

 

8. यदर्द प्रश्ि का कोई उपभाग िहीां है िो उस पर बाई और अांक र्दें और इसपर गोला लगा र्दें  इसका सख्िी स ेपालि ककया 
जायें| 

 

9. यटर्द परीक्षार्थी ने िुछ अर्धि प्रश्न िर टर्दए है तो अर्धि अांि वाले उत्तर पर अांि रे्द और र्दसूरे उत्तर पर “अततररतत प्रश्न” 

ललखिर िाट र्दें।  

 

10. ककसी अशुद्चध पर केिल एक ही बार अांक काटे जाए गलिी का अांकों के काटिे पर सांचचि प्रभाि िहीां पड़े।  
 

11. यहाँ 1-80 िक पूरा अांक मापि प्रयोग में लाया गया है। कृपया सही उत्तर के ललए पूरे अांक रे्दिे से दहचककचाए िहीां, यदर्द उत्तर 
विशेष पूरे अांकों के लायक है िो उसे पूरे अांक र्दें। 
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12. सभी परीक्षक आिश्यक रूप स ेमूलयाांकि कें द्र पर 8 घांटों के ललए मूलयाांकि करेंगे। िह प्रत्येक | दर्दि मुख्य विषय में 20 उत्तर 
पुक्तिकाओां का िथा अन्य विषयों में 25 उत्तरपुक्तिकाओां का मूलयाांकि करेंगे। इसका वििरर् मूलयाांकि मागणर्दलशणका में दर्दया 
गया है।  
 

13. परीक्षकों द्िारा भूिकाल में की गई कुछ त्रुदटयाँ जो प्रकाश में आई है इन्हें र्दोहरािे स ेबचे- 
• उत्तरपुक्तिका के ककसी उत्तर या उसके भाग का मूलयाांकि छूट जािा। 
• ककसी उत्तर में आबांदटि अांकों स ेअचधक अांक रे्दिा | 
• ककसी उत्तर पर अांको के जोड़ में गलिी। 
• उत्तरपुक्तिका के अांर्दर के पषृ्ठों से शीषणक पषृ्ठ पर गलि हतिाांिरर्। 
• शीषणक पषृ्ठ पर प्रश्िािुसार जोड़ में गलिी। 
• शीषणक पषृ्ठ के र्दोिों तिांभों के जोड़ में गलिी।  
• अांकों के कुल योग में त्रुदट। 
• कुल जोड़ में शब्र्दों ि अांकों का आपसी लमलाि ि होिा। 
• उत्तरपुक्तिका से ऑिलाइि अांकिाललका में अांकों का गलि हतिाांिरर् 

• उत्तर जो कक सही चचक्न्हि ककए गए है लेककि उसके अांक ि रे्दिा (यह आश्िति ककया जाये कक सही (√) का निशाि तपष्ट रूप 

स ेएिां सही िरीके स ेचचक्न्हि ककया जाएचाहे िह केिल एक पांक्ति है। इसी प्रकार गलि उत्तर के ललए (X) का चचन्ह लगाया 
जाए।  

• यदर्द ककसी प्रश्ि का आधा या एक भाग सही है और शेष भाग गलि है िो सही उत्तर पर भी अांक ि रे्दिा | 
 

14. यदर्द मूलयाांकि के समय आप एक उत्तर को बबलकुल गलि पािे है िो उस पर (X) का निशाि बिाकर (0) अांक अिश्य र्दें। 
 

15. उत्तर पुक्तिका में जाांच से छूटा हुआ कोई भाग, शीषणक पषृ्ठ पर अांक ललखिे से छूटा हुआ कोई प्रश्ि िथा जोड़ में पाई गई 

अशुद्चध जो कक परीक्षाथी द्िारा ढूांढी गई है िह मूलयाांकि से जुडे़ व्यक्तियों ि बोर्ण र्दोिों के ही सम्माि को ठेस पहुांचािा है 

इसललए सभी के सम्माि की रक्षा के ललए यह आिश्यक है कक सभी निरे्दशों का पूरी बारीकी स ेपालि हो | 
 

16. िातिविक मूलयाांकि आरम्भ करिे से पिण परीक्षक को तपॉट इिैलयूएशि के सारे निरे्दशों से तियां को -पररचचि कर लेिा है। 
 

17. प्रत्येक मूलयाांकि किाण को यह सुनिक्श्चि करिा चादहए कक उसिे िह सभी प्रश्िों का मूलयाांकि कर उन्हें शीषणक पषृ्ठ पर 
चढाकर ठीक से जमा कर अांकों को शब्र्दों में ललखा है। 
 

18. माििीय उच्चिम न्यायालय के आरे्दशािुसार परीक्षाथी पुिः मूलयाांकि प्रकिया के एक भाग के रूप में एक निधाणररि शुलक 

चुका कर िथा प्राथणिा पत्र रे्दकर या अलग से अपिी उत्तर पुक्तिका की प्रनिललवप प्राप्ि कर सकिा है। सभी परीक्षकों /मुख्य 
परीक्षकों/ सहायक मुख्य परीक्षकों को यह पिुः यार्द दर्दलिाया जािा है कक मूलयाांकि बबन्र्दओुां का दृढिा पूिणक 
पालि ककया जाए| 
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प्रश्न 

संख्या 

अपेक्षक्षत उत्ति / िूलयांकन ब दं ु अंक 

योजना 

प्रश्न 1 

 
 
 
 
 
 
 
 
 
 
 
उत्तर 1 

'यदद प्रत्येक वस्तु के मलए एक यनश्श्चत स्थान है औि वह उस 

स्थान पि उपलब्ध है, तो व्यवसाय/कािखाने की क्रियाओं िें कोई 

व्यवधान उत्पन्न नहीं होगा।' 

उपयुकु्त कथन द्वािा प्रकामित प्र ंध का मसद्धान्त है : 

(A) अनुिासन 

(B) व्यवस्था 

(C) यनदेि की एकता 

(D) सहयोग की िावना 

(B) व्यितथा 

 

 

 

 

 

 

 

1 अांक 

प्रश्न 2 

 

 

 

 

 

 

 

 

 

 

प्रखि मलमिटेड जीवनिक्षक औषधधयों के उत्पादक हैं। दो वष ुपूव ु

फ्लू का प्रकोप हुआ तथा यह िीघ्र ही फैल गया तथा इससे 

 हुत लोग प्रिाववत हुए। प्रखि मलमिटेड ने िोध तथा ववकास पि 

अत्यधधक यनवेि क्रकया तथा इसके मलए एक दवा के ववकास िें 

सफल हुई। दवा फ्लू की िोकथाि िें  हुत प्रिावी हुई तथा अ  

यह ििीजों के मलए आवश्यक हो गई। इसके परिणािस्वरूप, दवा 

की िााँग कई गुना  ढ़ गई। दवा की िााँग को ध्यान िें िखकि, 

कम्पनी ने दवा का िूलय  ढ़ा ददया। सिकाि श्स्थयत पि ध्यान 

िख िही थी। क्योंक्रक फ्लू पि यनयंत्रण की केवल यही एक दवा 

थी, जनता के मलए इसे वहन किने योग्य  नाने के मलए सिकाि 
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उत्तर 2 

ने इसे एक आवश्यक दवा घोवषत कि ददया औि इसकी कीित 

को यनयंबत्रत क्रकया। 

यनम्नमलखखत िें से उपयुुक्त श्स्थयत िें चधचतु िूलय यनधाुिण 

को प्रिाववत किने वाले कािकों की पहचान कीश्जए: 

(i) उत्पादन लागत 

(ii) उपयोग की गई ववपणन ववधधयााँ 

(iii) उपयोधगता तथा िााँग 

(iv) सिकािी तथा ववधधक यनयिन 

(A) केवल (iv) 

(B) (i), (iii) तथा (iv) 

(C) (iii) तथा (iv) 

(D) (i), (ii) तथा (iii) 

(B) (i), (iii) िथा (iv) 

 

 

 

 

 

 

 

 

1 अांक 

प्रश्न 3 

 

 

 

 

 

 

‘यदद किचुारियों की ओि से कोई िचनात्िक सुझाव आता है, तो 

प्र ंध को अपने कान  ंद नहीं किने चादहए अवपतु उनके सुझावों 

से यदद लागत िें पयाुप्त किी आती है, तो उन्हें इसके मलए 

पुिस्कृत क्रकया जाना चादहए।‘ 

उपयुकु्त कथन िें वैज्ञायनक प्र न्ध के क्रकस मसद्धान्त की चचाु 

की गई है ? 

(A) ववज्ञान पद्धयत, न क्रक अाँगूठा टेक यनयि 

(B) सहयोग, न क्रक टकिाव 
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उत्तर 3 

(C) सहयोग, न क्रक व्यश्क्तवाद 

(D) प्रत्येक व्यश्क्त का उसकी अधधकाधधक क्षिता एवं 

सिदृ्धध के मलए ववकास 

(C) सहयोग, ि कक व्यक्तििार्द 

 

 

 1 अांक 

प्रश्न 4 

 

 

 

 

 

 

 

 

उत्तर 4 

 

यनम्नमलखखत कथनों को पदढ़ए अमिकथन (A) तथा कािण (R)। 

नीचे ददए गए ववकलपों िें से सही ववकलप का चयन कीश्जए : 

अमिकथन (A): लािांि यनणयु लेते सिय, प्रयतधारित लाि की 

सीिा फि ुके ववत्तीयन यनणयु को िी प्रिाववत किती है। 

कािण (R)  :फि ुको प्रयतधारित लाि के  िा ि पुनः यनवेि के 

मलए कोषों की आवश्यकता नहीं होती है। 

(A) अमिकथन (A) तथा कािण (R) दोनों सत्य हैं तथा 

कािण (R), अमिकथन (A) की सही व्याख्या है। 

(B) अमिकथन (A) तथा कािण (R) दोनों सत्य हैं, पिन्तु 

कािण (R), अमिकथन (A) की सही व्याख्या नहीं है। 

(C) अमिकथन (A) सत्य है, पिन्तु कािण (R) असत्य है। 

(D) अमिकथन (A) असत्य है, पिन्तु कािण (R) सत्य है। 

(A) अलभकथि (A) िथा कारर् (R) र्दोिों सत्य हैं िथा 

कारर् (R), अलभकथि (A) की सही व्याख्या है।  

 

 

 

 

 

 

 

1 अांक 

प्रश्न 5 

 

 

उपिोक्ता संिक्षण अधधयनयि, 2019 के अनुसाि, एक वस्तु 

अथवा सेवा से असंतुष्ट होने पि उपिोक्ता को मिकायत किने 

तथा सुनवाई का अधधकाि है। 
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उत्तर 5 

यहााँ संदमितु उपिोक्ता अधधकाि है___________: 

(A) सुिक्षा का अधधकाि 

(B) सुनवाई का अधधकाि 

(C) सूधचत होने का अधधकाि 

(D) यनवािण पाने का अधधकाि 

 

(B) सुििाई का अचधकार 

 

 

 

 

1 अांक 

प्रश्न 6 

 

 

 

 

 

 

उत्तर 6 

 

यनम्नमलखखत िें से कौन-सा ववकलप प्र ंधन के 'संगठन' काय ु

की प्रक्रिया िें चिणों के सही अनुिि को दिाुता है? 

(A) वविागीकिण→ काय ुकी पहचान तथा वविाजन → वतृांत 

(रिपोदटिंग) सम् न्ध स्थापन →कतवु्यों का यनधाुिण  

(B) वविागीकिण→ काय ुकी पहचान तथा वविाजन → कतवु्यों 

का यनधाुिण वतृांत→ (रिपोदटिंग) सम् न्ध स्थापन 

(C) काय ुकी पहचान तथा वविाजन →वतृांत (रिपोदटिंग) 

सम् न्ध स्थापन →कतवु्यों का यनधाुिण → वविागीकिण 

(D) काय ुकी पहचान तथा वविाजन→ वविागीकिण→ कतवु्यों 

का यनधाुिण →वतृांत (रिपोदटिंग) सम् न्ध स्थापन 

(D) कायण की पहचाि िथा विभाजि→ विभागीकरर्→किणव्यों 

का निधाणरर् →ििृाांि (ररपोदटिंग) सम्बन्ध तथापि 

 

 

 

 

 

 

 

 

 

1 अांक 

प्रश्न 7 
यनम्नमलखखत िें से कौन-सा िध्य-स्तिीय प्र ंध का काय ुनहीं 

है? 
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उत्तर 7 

(A) उच्च प्र ंधकों द्वािा  नाई गई नीयतयों की व्याख्या किना 

(B) अपने वविाग के मलए आवश्यक किचुारियों को सुयनश्श्चत 

किना 

(C) ववमिन्न वविागों की गयतववधधयों िें सिन्वय सािंजस्य 

स्थावपत किना 

(D) अपने वविागों के किचुारियों को आवश्यक काय ुएवं 

उत्तिदाययत्व सौंपना 

(C) विलभन्ि विभागों की गनिविचधयों में समन्िय सामांजतय 

तथावपि करिा 

 

 

 

 

 

1 अांक 

प्रश्न 8 

 

 

 

 

 

 

उत्तर 8 

 

नीचे ददए गए धचत्र िें पैकेश्जंग का/के स्ति है/हैं : 

 
(A) केवल प्राथमिक स्ति 

(B) प्राथमिक एवं द्ववतीयक स्ति 

(C) प्राथमिक, द्ववतीयक एवं परिवहन पैकेश्जंग स्ति 

(D) प्राथमिक तथा परिवहन पैकेश्जंग स्ति 

(D) प्राथलमक िथा पररिहि पैकेक्जांग तिर 

 

 

 

 

 

 

 

1 अांक  

प्रश्न 9 

 

स्तंि I िें ददए गए  ाह्य िती के ववमिन्न स्रोतों के वणनु का 

मिलान स्तंि II िें ददए गए स्रोतों से कीश्जए। 
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स्तंि I स्तंि II 

 

1. सिी िोज़गाि चाहने वालों तथा 

उपलब्ध िोज़गाि के अवसि, दोनों से 

सं ंधधत सूचना प्रदान किने के 

उद्देश्य से डडज़ाइन की गई तथा 

सिवपतु वे साइट 

 

(i) प्रतीक्षा सूची 

 

2. ववमिन्न पदों के मलए योग्य 

व्यश्क्तयों की िती के मलए 

व्यावसाययक घिानों का मिक्षा संस्थानों 

के साथ संपकु 

 

(ii) वे  प्रसािण 

 

3. उद्यि के सूचना-पट्ट पि उपलब्ध 

पदों के ववविण के साथ लगाई गई 

सूचना 

(iii) 

कैम्पस/िहाववद्यालय/ 

ववश्वववद्यालय िती 

4. रिश्क्तयााँ ििने के मलए कायाुलय 

िें आए अयनयमित आवेदकों से प्राप्त 

आवेदनों से तैयाि तथा जााँच क्रकया 

गया डेटा ेस 

(iv) प्रत्यक्ष िती 

 

यनम्नमलखखत िें से सही ववकलप का चयन कीश्जए: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.in



9 
 

 

 

 

 

उत्तर 9 

(A) 1-(iii), 2-(i), 3-(iv), 4-(ii) 

(B) 1-(i), 2-(iii), 3-(iv), 4-(ii) 

(C) 1-(ii), 2-(iv), 3-(i), 4-(iii) 

(D) 1-(ii), 2-(iii), 3-(iv), 4-(i) 

(D) 1-(ii), 2-(iii), 3-(iv), 4-(i) 

 

 

 

 

1 अांक 

प्रश्न 10 

 

 

 

 

 

 

उत्तर 10 

ज  यनिाुताओं द्वािा प्रत्यक्ष रूप से ब ना क्रकसी िध्यस्थ को 

सश्म्िमलत क्रकए अंयति उपिोक्ताओं को वस्तुएाँ  ेची जाती हैं तो 

उपयोग क्रकया गया ववतिण का िाध्यि है:  

(A) िून्य-स्तिीय िाध्यि  

(B) एक-स्तिीय िाध्यि 

(C) द्वव-स्तिीय िाध्यि 

(D) तीन-स्तिीय िाध्यि 

(A) शून्य-तिरीय माध्यम  

 

 

 

 

 

1 अांक 

प्रश्न 11 

 

 

 

 

 

 

 

 

अिोक इंडस्रीज़ मलमिटेड, ऑटोिो ाइल इंडस्रीज़ के मलए पुजे 

 नाने वाली एक कम्पनी है। इस कम्पनी िें सिी उत्पादन 

गयतववधधयों के मलए िानक यनधाुरित क्रकए गए हैं, श्जसिें 

प्रक्रिया, कच्चे िाल, सिय, उत्पाद, ििीनिी तथा ववधधयों का 

िानकीकिण सश्म्िमलत है श्जनका पालन उत्पादन के सिय 

क्रकया जाना चादहए। इस प्रकाि प्राप्त उत्पाददत सािग्री गुणवत्ता 

िें सवशेु्रष्ठ होगी। कम्पनी के फोििैन, िेहिा, ने कािगािों के 

कायों को इस प्रकाि डडज़ाइन क्रकया है क्रक अनावश्यक चाल दिू 

हो (हट) जाएाँ तथा कायों को कुिलतापूवकु पूिा किने िें कि 
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उत्तर 11 

सिय लगे। उसने फैक्टिी िें कािगािों को दी जा सकने वाली 

आिाि की अवधधयों के अन्तिालों तथा आववृत्तयों का वैज्ञायनक 

रूप से ववश्लेषण क्रकया ताक्रक उन्हें आंतरिक  ल पुनः प्राप्त हो 

तथा वे कुिलता से काय ुकि पाए। 

उपयुकु्त अनुच्छेद िें वैज्ञायनक प्र ंध की यनम्नमलखखत िें से 

कौन-सी तकनीक की चचाु नहीं की गई है? 

(A) थकान अध्ययन 

(B) ववधध अध्ययन 

(C) गयत अध्ययन 

(D) िानकीकिण तथा सिलीकिण 

(B) विचध अध्ययि 

 

 

 

 

 
1 अांक 

प्रश्न 12 

 

 

 

 

 

 

 

 

प्रिांत ने एक फुटकि क्रकिाने का व्यवसाय आिंि क्रकया। 

ऑनलाइन िॉवपगं की  ढ़ती हुई लोकवप्रयता के कािण, इस 

व्यवसाय िें प्रयतयोधगता की िात्रा  हुत अधधक है। इससे 

कायिुील पूाँजी की आवश्यकता अधधक होगी क्योंक्रक ग्राहकों से 

तत्काल आदेिों को पूिा किने के मलए उसे अंयति वस्तुओं 

(तैयाि िाल) के स्टॉक की अधधक आवश्यकता होगी। कायिुील 

पूाँजी की आवश्यकता को प्रिाववत किने वाला कािक है : 

(A) कच्चे िाल की उपलब्धता 

(B) संचालन का स्ति 

(C) प्रयतयोधगता का स्ति 

(D) िुद्रा स्फीयत 
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उत्तर 12 
(C) प्रनियोचगिा का तिर 

1 अांक 

 

प्रश्न 13 

 

 

 

 

 

 

 

 

उत्तर 13 

 

अपणाु एवं वप्रयंका एक कम्पनी 'शे्रया इंडस्रीज़' िें कायिुत हैं, 

जो िदहलाओं के मलए  ने- नाए वस्त्रों का व्यापाि किती है। 

प्रत्येक को 5 ददनों के अंदि ₹ 1,000 प्रयत पोिाक की लागत से 

10 पोिाकों के यनिाुण का दाययत्व सौंपा गया। अपणाु 5 ददनों 

के अंदि ₹ 1,100 प्रयत पोिाक की लागत पि 10 पोिाकों का 

यनिाुण कि सकी, ज क्रक वप्रयंका ₹900 प्रयत पोिाक की लागत 

पि 5 ददनों के अंदि केवल 8 पोिाकों का यनिाुण कि सकी। 

उपयुकु्त के सं ंध िें यनम्नमलखखत िें से कौन-सा कथन सही है 

? 

(A) अपणाु कुिल है लेक्रकन वप्रयंका प्रिावपूण ुहै। 

(B) अपणाु प्रिावपूण ुहै लेक्रकन वप्रयंका कुिल है। 

(C) अपणाु तथा वप्रयंका दोनों प्रिावपूण ुहैं। 

(D) अपणाु तथा वप्रयंका दोनों कुिल हैं। 

(B) अपर्ाण प्रभािपूर्ण है लेककि वप्रयांका कुशल है। 

 

 

 

 

 

 

 

 

 

 

1 अांक 

प्रश्न 14 

 

 

 

कथन । : उपिोक्ता संिक्षण अधधयनयि, 2019 के अनुसाि, 

श्जला किीिन के पास उन मिकायतों पि ववचाि किने का 

अधधकाि-क्षेत्र है जहााँ प्रयतफल के रूप िें िुगतान की गई 

वस्तुओं या सेवाओं का िूलय ₹10 किोड़ से अधधक नहीं होता। 
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उत्तर 14 

कथन II : यदद कोई िी पक्ष श्जला किीिन के आदेि से 

संतुष्ट नहीं है, तो वह इस आदेि के ववरुद्ध आदेि की यतधथ 

से पैंतालीस ददनों के िीति साक्ष्य अथवा कानून के आधाि पि 

िाज्य किीिन के सिक्ष अपील कि सकता है। 

यनम्नमलखखत िें से सही ववकलप का चयन कीश्जए: 

(A) कथन । सत्य है तथा कथन ।। असत्य है। 

(B) कथन II सत्य है तथा कथन । असत्य है। 

(C) दोनों कथन सत्य हैं। 

(D) दोनों कथन असत्य हैं। 

(B) कथि II सत्य है िथा कथि । असत्य है। 

 

 

 

 

 

 

1 अांक 

प्रश्न 15 

 

 

 

 

 

 

उत्तर 15 

 

कथन I: अंिधारियों के कोष िें प्रयतफल के िुगतान या पूाँजी के 

पुनिुगुतान की वचन द्धता सश्म्िमलत होती है। 

कथन II : ऋण कोषों के सिी स्रोतों िें से स से सस्ता स्रोत 

िाना जाता है तथा ब्याज पि कि की कटौती इसे औि अधधक 

सस्ता  ना देती है। यनम्नमलखखत िें से सही ववकलप का चयन 

कीश्जए: 

(A) कथन । सत्य है तथा कथन II असत्य है। 

(B) कथन II सत्य है तथा कथन । असत्य है। 

(C) दोनों कथन सत्य हैं। 

(D) दोनों कथन असत्य हैं। 

(B) कथि II सत्य है िथा कथि । असत्य है। 

 

 

 

 

 

 

 

1 अांक 
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प्रश्न 16 

 

 

 

 

 

 

 

 

 

उत्तर 16 

स्टेिनिी वस्तुओं का व्यापाि किने वाली एक कम्पनी टी-पेक्स 

मलमिटेड िें यह यनणयु मलया गया क्रक सिी िय ए के मलमिटेड 

से उधाि क्रकए जाएाँगे तथा उधाि अवधध न्यूनति 7 ददनों की 

होगी। यह इसमलए क्रकया गया क्योंक्रक कोई अन्य कम्पनी उधाि 

सुववधा का प्रस्ताव नहीं दे िही है। उपयुकु्त अनुच्छेद िें क्रकस 

प्रकाि की योजना संदमिुत है ? 

(A) यनयि 

(B) नीयत 

(C) ववधध 

(D) व्यूह-िचना 

(B) िीनि 

 

 

 

 

 

 

 

1 अांक 

प्रश्न 17 

 

 

 

 

 

 

 

 

टेकपैक मलमिटेड हैदिा ाद की एक कम्पनी है जो पैकेश्जंग 

सािग्री का उत्पादन किती है तथा इसे  ी-टू- ी -व्यवसाय प्रकाि 

िें देििि िें ववमिन्न उद्योगों को  ेचती है। यह एक गयतिील 

कम्पनी है। वषों से जलवायु परिवतनु के कािण तथा िाितीय 

ग्राहकों की पसंद िें पयाुविण-दहतैषी उत्पादों के प्रयत  दलाव के 

कािण कम्पनी ने जैव-यनम्नीकिणीय पैकेश्जंग सािग्री के 

उत्पादन की तिफ स्थानांतिण कि मलया है। इसके अयतरिक्त, 

इसके डडश्जटल रूपांतिण के कािण, कम्पनी को अत्यधधक लाि 

हुआ है क्योंक्रक इसके ग्राहक ऑनलाइन आदेि दे सकते हैं तथा 

ववमिन्न ऑनलाइन तिीकों से िोकड़िदहत िुगतान कि सकते हैं। 

उपयुकु्त श्स्थयत िें चधचुत व्यावसाययक पयाुविण के आयाि हैं : 
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उत्तर 17 

(A) आधथकु तथा सािाश्जक पयाुविण 

(B) सािाश्जक तथा प्रौद्योधगकीय पयाुविण 

(C) प्रौद्योधगकीय तथा आधथकु पयाुविण 

(D) सािाश्जक तथा िाजनैयतक पयाुविण 

(B) सामाक्जक िथा प्रौद्योचगकीय पयाणिरर् 

 

 

 

 

1 अांक 

 

प्रश्न 18 

 

 

 

 

 

 

उत्तर 18 

 

‘अलपकालीन यनवेि यनणुय’ के मलए यनम्नमलखखत िें से कौन-सा 

कथन सत्य है ? 

(A) ये दीघ-ुअवधध िें व्यवसाय की उपाजनु क्षिता को 

प्रिाववत किते हैं। 

(B) इन यनणयुों िें सािान्यतः  ड़ी िात्रा िें ववयनवेि 

सश्म्िमलत होता है। 

(C) ये यनणयु व्यवसाय की तिलता एवं लािप्रदता को 

प्रिाववत किते हैं। 

(D) इनको एक  ड़ी िािी लागत के अलावा परिवयततु नहीं 

क्रकया जा सकता। 

(C) ये निर्णय व्यिसाय की िरलिा एिां लाभप्रर्दिा को प्रभाविि 

करिे हैं। 

 

 

 

 

 

 

 

1 अांक 

प्रश्न 19 

 

 

 

‘वी. के. पश्ब्लक स्कूल’ िें कक्षा XII के मलए एक अंग्रेजी 

अध्यापक का स्थान रिक्त है। आवेदनों की प्राथमिक जााँच के 

 ाद 10 अभ्याधथयुों को सूची द्ध क्रकया गया। अ  ववद्यालय 

प्र ंधन ने अभ्याधथयुों से कक्षा XII के पाठ्यिि से सम् श्न्धत 
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उत्तर 19 

एक यनदिनु पाठ देने के मलए कहा। इन यनदिनु पाठों का 

उद्देश्य अभ्याधथयुों के ववद्यिान अध्यापन कौिल तथा पेिे की 

कुिलता को िापना था। उपयुकु्त श्स्थयत िें ‘वी. के. पश्ब्लक 

स्कूल’ द्वािा उपयोग िें लाई गई चयन पिीक्षा के प्रकाि को 

पहचायनए : 

(A) कौिल पिीक्षा 

(B)  ुद्धध पिीक्षा 

(C) व्यापाि पिीक्षा 

(D) व्यश्क्तत्व पिीक्षा 

(C) व्यापार परीक्षा 

 

 

 

 

 

 

 

 

1 अांक 

प्रश्न 20 

 

 

 

 

 

उत्तर 20 

 

‘आदेि की एकता’ के मसद्धान्त का उद्देश्य है क्रक : 

(A) यह दोहिी अधीनस्थता को िोकता है। 

(B) यह संगठनात्िक दहतों के मलए व्यश्क्तगत दहतों को 

सिवपतु किता है। 

(C) यह किचुारियों के  ीच एकता एवं सािंजस्य की िावना 

को  ढ़ावा देता है। 

(D) यह यनणयु लेने के अधधकाि को उच्च स्ति पि केश्न्द्रत 

किता है। 

(A) यह र्दोहरी अधीितथिा को रोकिा है। 

 

 

 

 

 

 

 

1 अांक 
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प्रश्न 21 

उत्तर 21 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(क) ववत्तीयन यनणयु को प्रिाववत किने वाले क्रकन्हीं तीन कािकों 

का उललेख कीश्जए। 

वित्तीयि निर्णयि को प्रभाविि करिे िाले कारक (कोई िीि) 

(i) लागि: विलभन्ि तत्रोिों से वित्त प्राप्ि करिे की लागि लभन्ि 

लभन्ि होिी है। साधारर्िया एक वििेकशील प्रबांधक उसी तत्रोि 

का चुिाि करिा है जो सबसे सतिा होिा है।  

(ii) जोखखम: विलभन्ि तत्रोिों में सांबांचधि 'जोखखम लमन्ि होिी है। 

(iii) प्रििणि लागि : क्जस तत्रोि की प्रिणिि लागि अचधक होिी 

है उसके प्रनि आकषणर् कम होिा है| 

(iv) रोकर् प्रिाह क्तथनि: सुदृढ रोकड़ प्रिाह क्तथनि, ऋर् विनियि 

के विकलप को समिा की अपेक्षा अचधक व्यािहाररक बिािी है। 

(v) तथायी सांचालि लागि: यदर्द व्यिसाय में तथायी सांचालि 

लागि का तिर ऊँचा है िो निक्श्चि रूप से इसकी तथायी 

वित्तीय लागि को कम करिे के ललए निम्ि ऋर् वित्तीयि को 

बेहिर मािा जाएगा। 

(vi) नियांत्रर् प्रनििल: अचधक मात्रा में समिा अांशों का निगणमि 

व्यिसाय पर नियांत्रर् को ढीला कर रे्दिा है। ऋर् वित्तीयि में 

ऐसी परेशानिया िही आिी। 

(vii) पूँजी बाजार की क्तथनि: पूँजी बाजार की र्दशा भी निचध 

तत्रोि के विकलप को प्रभाविि करिी है। क्जस समय तटॉक 

बजार में प्रनिभूनियों का मूलय बढ रहा होिा है उस समय बहुि 

से लोग समिा में नििेश के ललए ित्पर रहिे हैं। यद्यवप ककसी 

 

 

 

 

 

1 x 3 = 

3 अांक  
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प्रश्न 21 

 

उत्तर 21   

भी कम्पिी के ललए अििि पूँजी माकेट की र्दशा में समिा 

निगणमि का कायण कदठि होिा है। 

(यदद क्रकसी पिीक्षाथी ने केवल ऊपि ददए गए ब न्द ुददए हैं तो 

प्रत्येक ब न्द ुके मलए केवल आधा अंक ददया जाए) 

                      अथवा 

(ख) िाितीय प्रयतिूयत तथा ववयनिय  ोड ुके क्रकन्हीं तीन 

सुिक्षात्िक कायों का उललेख कीश्जए। 

भारिीय प्रनिभूनि एिां विनिमय बोर्ण के सुरक्षात्मक कायण (कोई 

िीि) 

(i) सेबी प्रनिभूनि बाजार में धोखाधड़ी, अिुचचि व्यिहारों, हेरािेरी, 

मूलय में झूठे उिार चढाि, झूठे कथिो इत्यादर्द पर रोक लगािा 

है। 

(ii) यह अांशों के भीिरी व्यापार पर रोक लगा ऐसी ककसी 

गनिविचध पर जुमाणिा लगािा है।  

(iii) यह नििेशकों की सुरक्षा के ललए कर्दम उठािा है। 

(iv) यह प्रनिभूनि बाजार में उचचि कायों एिां आचार सांदहिा के 

पालि को बढािा रे्दिा है| 

 

(यदद क्रकसी पिीक्षाथी ने केवल िीषकु ददए है तो प्रत्येक िीषकु 

के मलए केवल आधा अंक ददया जाए)  

 

 

अथिा  

 

 

1 x 3 = 

3 अांक 

प्रश्न 22 

 

 

धीिेन पटेल एक दधू प्रक्रियण कम्पनी का िुख्य कायकुािी 

अधधकािी है। वह एक  हुत प्रिावी प्र ंधक है। वह अपने काय ु

िें काफी व्यवश्स्थत है तथा अनुकिणीय व्यवहाि प्रदमितु किता 
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उत्तर 22 

है। धीिेन पटेल इस  ात पि ज़ोि देता है क्रक संप्रेषण के सिी 

उद्देश्यों हेतु संगठन के सिी प्र ंधकों तथा अधीनस्थों को ऊपि 

से नीचे की तिफ जाने वाली एक अधधकाि श्रृंखला का अनुसिण 

किना चादहए। 

उपयुकु्त श्स्थयत िें प्रकामित प्र ंध के सािान्य मसद्धान्त की 

पहचान कीश्जए तथा सिझाइए। 

सोपाि श्ृांखला (कोई र्दो बबन्र्द ु) 

• सोपाि श्ृांखला को उच्च अचधकाररयों से अधीितथों िक 

अचधकार की एक तपष्ट रेखा के रूप में पररभावषि ककया 

जा सकिा है। क्जसका वितिार प्रबांध के उच्चिम ्तिर से 

निम्ििम ्तिर िक हैं। 

• इसे सांप्रेषर् की श्ृांखला भी मािा जािा है तयोंकक उच्च 

तिर से दर्दए गए आरे्दश ि निरे्दश निम्ि तिर िक 

पहुांचिे से पूिण उिके मध्यतथ प्रबन्धको िक पहुांचिे हैं| 

आकक्तमक पररक्तथनि अथिा अनि आिश्यक कायों के ललए 

समाि तिर पर र्दो अलग अलग विभागों में काम करिे िाले 

व्यक्तियों के मध्य गैंग प्लेंक के माध्यम से समिल सांबांध भी 

तथावपि ककया जा सकिा है। 

 

 

 

 

 

पहचाि के 
ललए 1 
अांक + 
वििरर् के 
ललए 2   
अांक  1+2 

= 3 अक 

 

प्रश्न 23 

उत्तर 23 

 

 

(क) 'लोकतांबत्रक नेततृ्व' िैली को सिझाइए। 

 'लोकिाांबत्रक िेितृ्ि शैली' 

 

 

1x3 
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प्रश्न 23 

 

 

 

 

उत्तर 23 

 

 

 

 

• "लोकिाांबत्रक िेितृ्ि शैली के अन्िणगि िेिा समूह से 

सलाह करिे के उपराांि, ही आरे्दश रे्दिा है। िह समूह की 

तिीकृनि द्िारा िीनियों का सांयोजि करिा है। 

• एक लोकिाांबत्रक िेिा अपिे अधीितथों को भी निर्णय 

लेिे में भागीर्दारी करिे के ललए प्रोत्सादहि करिा है। 

• िह समूह में निदहि शक्तियों के माध्यम से ही, अचधक 

नियांत्रर् को सांभि बिािा है|  

                       अथवा 

(ख) 'एक  ुद्धधिान प्र ंधक को संप्रेषण के अनौपचारिक 

िाध्यिों के सकािात्िक पहलुओं का उपयोग किना चादहए तथा 

इस िाध्यि के नकािात्िक पहलुओं को कि उपयोग किना 

चादहए।' 

उपयुकु्त कथन के प्रकाि िें, संप्रेषण के अनौपचारिक िाध्यि के 

क्रकसी एक सकािात्िक तथा क्रकन्हीं दो नकािात्िक पहलुओं को 

सिझाइए। 

सांप्रेषर् के अिौपचाररक माध्यमों के सकारात्मक पहलू (कोई 

एक) 

• कई बार, अिौपचाररक माध्यम प्रबन्धक के ललए सहायक 

भी होिा है, जैसे इस माध्यम से सूचिाए बहुि शीघ्र 

पहुांचिी है। 

• प्रबन्धको द्िारा अिौपचाररक माध्यमों का प्रयोग अपिे 

अधीितथों की प्रनिकियाएां जाििे के ललए ककया जािा है| 

= 3 अांक 

 

 

 

 

अथिा 

 

 

 

 

 

 

1+ 

 1x 2  

=1+2=  

3 अांक  
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सांप्रेषर् के अिौपचाररक माध्यमों के िकारात्मक पहलू (कोई र्दो) 

• कभी कभी अिौपचाररक सांप्रेषर् में सूचिा का तिरूप 

बबगर् जािा है. 

• सांप्रेषर् के तत्रोि का पिा लगािा बेहर्द कदठि होिा है 

यह अििाहों को जन्म रे्दकर कायणतथाि के िािािरर् में बाधा 

उत्पन्ि करिा है। 

प्रश्न 24 

 

 

 

 

 

 

 

 

 

 

 

एक लोकवप्रय पबत्रका ने संपूण ुववश्व िें पदों िें कटौती के ववषय 

िें एक लेख छापा। उसिें उश्ललखखत था क्रक लागत कि किने, 

 ाज़ाि की दिा तथा प्रौद्योधगकीय प्रगयत के कािण वपछले वष ु

िें सूचना प्रौद्योधगकी के क्षेत्र िें लगिग दो लाख लोगों ने 

िोज़गाि खोया। 

     इसे िाित की एक सॉफ्टवेयि डेवलपिेंट कम्पनी टेकवायि 

मलमिटेड के किुचारियों द्वािा पढ़ा गया तथा इस पि चचाु की 

गई। इससे उनके अंदि  हुत अिांयत उत्पन्न हो गई तथा उनका 

िनो ल कि हो गया। किचुारियों की उत्पादकता िें किी आनी 

आिंि हो गई। कम्पनी के िुख्य कायकुािी अधधकािी को 

किचुारियों के िध्य उनके िोज़गाि के ववषय िें असुिक्षा की 

िावना ददखाई दी। एक नेता के रूप िें अपनी िूमिका को 

सिझते हुए, उसने किचुारियों को उनकी िावी आय तथा 

िोज़गाि के ववषय िें आश्वस्त किते हुए सिी किचुारियों को 

एक ई-िेल मलखी। 

 

 

 

 

 

 

 

 

 

 

 

www.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.in



21 
 

 

 

 

 

 

 

 

 

उत्तर 24 

 इस संप्रेषण ने किचुारियों को िनोवैज्ञायनक तथा िावनात्िक 

संतुश्ष्ट दी तथा इससे उनके यनष्पादन िें सकािात्िक परिणाि 

दिाुए। िुख्य कायकुािी अधधकािी अधीनस्थ को ब ना कोई 

िौदद्रक प्रोत्साहन ददए उन्हें संगठन के उद्देश्यों को प्राप्त किने 

के मलए वांयछत तिीके से काय ुकिने िें सफल िहा। 

 

(i) किचुारियों के यनष्पादन िें सुधाि के मलए िुख्य 

कायकुािी अधधकािी द्वािा उपयोग क्रकए गए प्रोत्साहन 

की पहचान कीश्जए तथा सिझाइए । 

(ii) उपयुकु्त श्स्थयत िें िॉस्लो के आवश्यकता अनुिि 

मसद्धान्त के अनुसाि किचुारियों की श्जस आवश्यकता 

की संतुश्ष्ट हुई है उसका उललेख कीश्जए। 

(i) पर्द सुरक्षा : यह एक गैर वित्तीय प्रोत्साहि है, क्जसके 

अन्िगणि कमणचारी को अपिे भविष्य की आय एिां कायण र्दोिों के 

ललए क्तथरिा/तथानयत्ि प्रर्दाि ककया जािा है िाकक िह उत्साह से 

अपिे कायण को कर सके| 

(ⅱ)उपरोति क्तथनि में मतलो के आिश्यकिा अिुिम लसद्धान्ि 

के अिुसार कमणचाररयों की सुरक्षा सांबांधी आिश्यकिओां को 

सांिुष्ट ककया गया है। ये आिश्यकिाए सुरक्षा िथा ककसी भी 

शारीररक िथा मिोिेगों की क्षनि से बचाि प्रर्दाि करिी है। 

 

 

 

 

 

 

 

 

 

प्रोत्साहि 
की पहचाि 
के ललए 1 
अांक  

+ 

वििरर् के 
ललए 1 
अांक + 
आिश्यकिा 
के उललेख 
के ललए 1 
अांक 

 

1+1+1= 
3 अांक  
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प्रश्न 25 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

उत्तर 25 

एक जलपान-गहृ के िामलक, अनिोल पाठक, ने देखा क्रक एक 

वष ुकी अवधध िें कच्चे िाल, परिवहन तथा पैकेश्जंग की लागत 

 ढ़ गई। इसके परिणािस्वरूप कुल लागत 15%  ढ़ गई। उसने 

सोचा क्रक संगठन िें प्रत्येक गयतववधध की जााँच किना आसान 

काय ुनहीं था, इसमलए उसने इन तीन लागतों िें हुई  ढ़ोतिी का 

गहिाई से अध्ययन किन ेका यनणयु मलया। उसने लागत िें 

अपेक्षक्षत  ढ़ोतिी तथा वास्तववक  ढ़ोतिी की नीचे दी गई एक 

सािणी तैयाि की। 

ि.स. व्यय लागत िें अपेक्षक्षत 

 ढ़ोतिी 

लागत िें 

वास्तववक  ढ़ोतिी 

1. कच्चा िाल 4% 7% 

2. परिवहन 10% 8% 

3. पैकेश्जंग 10% 20% 

प्र ंध के एक काय ुसे सं ंधधत उन दो अवधािणाओं को 

सिझाइए श्जनका उपयोग अनिोल पाठक द्वािा ववचलनों का 

ववश्लेषण किने के मलए क्रकया जाएगा। 

(a) जदटल या सांकट बबन्िु नियांत्रर्: 

जदटल या सांकर बबांर्द ुनियांत्रर् का ध्याि सांतथा के उि बबन्र्दओुां 

पर केक्न्द्रि होिा है जो सांगठि की सिलिा में निर्ाणयक होिे है 

तयोंकक सांगठि की प्रत्येक किया पर निगरािी रखिा ि िो 

सरल है और ि ही अलपव्ययी। 

(b) अपिार्द द्िारा प्रबांध: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

िाम के 
ललए 1 
अांक + 

वििरर् के 
ललए 1  
अांक 2+2 
= 4 अांक 
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अपिार्द द्िारा प्रबांध के अांिगणि केिल उन्हीां महत्त्िपूर्ण विचलिों 

को प्रबन्ध को सूचचि ककया जािा है जो तिीकायण सीमा से 

अचधक है। िाकक प्रिन्ध उन्हें ठीक करिे के ललए सुधारात्मक 

कायणिाही कर सके| 

 

प्रश्न 26 

 

 

 

 

उत्तर 26  

िुद्रा  ाज़ाि का अथ ुदीश्जए। यनम्नमलखखत के आधाि पि पूाँजी 

 ाज़ाि एवं िुद्रा  ाज़ाि िें अन्तिेद कीश्जए : 

(i) प्रलेख 

(ii) तिलता 

(iii) संिाववत प्रयतफल 

मुद्रा बाजार (अथण) 

मुद्रा बाजार एक छोटी अिचध की निचधयों का बाजार है जो ऐसी द्रव्य 

सांपवत्तयों का निपर्दाि करिा है क्जिकी पररपतििा अिचध एक िषण 

िक की होिी है। 

पूँजी बाजार ि मुद्रा बाजार में अांिर 

ि. स. आधारा पूांजी बाजार मुद्रा बाजार 

1.  प्रलेख 

 

पूँजी बाजार के 

प्रलेख है  

समिा अांश, 

ऋर्पत्र, बॉर्, 

पूिाणचधकारी अांश 

आदर्द 

मुद्रा बाजार के 

प्रलेख है लघु 

अिचध के ऋर् पत्र 

जैस ेनिजारिी 

बबल, शीघ्रािचध 

द्रव्य, िाखर्क्ययक 

 

 

 

 

 

अथण के ललए 

1 अांक + 

अांिर के 

प्रत्येक 

बबन्र्द ुके 

ललए 1 अांक 

1+3 = 4 

अांक 
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प्रपत्त बचि प्रमार् 

पत्र आदर्द 

2.  िरलिा प्रनिभूनियाां िरल है 

तयोंकक इिका 

तटॉक एततचेंज में 

िय-वििय होिा है 

लेककि मुद्रा बाजार 

के प्रलेखों की िुलिा 

में यह कम िरल 

होिे हैं। 

मुद्रा बाजार के 

प्रपत्र अचधक िरल 

होिे है। तयोंकक 

इिके साथ DFHI 

की औपचाररक, 

व्यितथा जुड़ी 

होिी है? 

 

3. सांभाविि 

प्रनििल 

 

यहाां सांभाविि 

प्रनििल की र्दर 

उच्च होिी है। 

पूँजीगि लाभ अजणि 

की सांभाििा के साथ 

उच्च लाभाांश ि 

बोिस निगणम भी 

प्राप्ि होिे है। 

छोटी अिचध के 

कारर् सांभाविि 

प्रनिि ल कम 

रहिा है। 

 

 

 

प्रश्न 27 

 

ईिान पााँच लीटि सिसों का तेल खिीदना चाहता था।  ाज़ाि िें 

जाने से पहले उसने  ाज़ाि िें उपलब्ध सिसों के तेल के 

 

 

www.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.in



25 
 

 

 

 

 

 

 

 

 

 

 

 

उत्तर 27 

 

ववमिन्न ब्राण्डों के  ािे िें जानने के मलए इंटिनेट सफु क्रकया। 

फुटकि दकुान पि पहुाँचने पि उसे पााँच ववमिन्न ब्राण्ड के सिसों 

के तेल पता चले, पिन्तु उसको आश्चय ुहुआ क्रक उनिें से केवल 

एक पि 'FSSAI' प्रिाखणकता वाला धचह्न था, उसने इसी को 

िय किने का यनणयु मलया। उसने तेल के कंटेनि पि लगे ले ल 

को िूलय तथा तेल का िाि पता लगाने के मलए पढ़ा। तेल के 

िूलय का िुगतान किते सिय उसने यह सुयनश्श्चत क्रकया क्रक 

िोकडड़या उसे नगद िसीद देता है। 

ईिान एक श्ज़म्िेदाि ग्राहक था। ऐसे क्रकन्हीं चाि उत्तिदाययत्वों 

का उललेख कीश्जए श्जन्हें सिसों का तेल खिीदते सिय ईिान 

ने ध्यान िें िखा। 

ईशाि द्िारा सरसों का िेल खरीर्दिे समय ध्याि रखे गए 

उत्तरर्दानयत्ि 

(i) सजग रहिा बाजार में उपलब्ध विलभन्ि ितिु एिां सेिाओां के 

सांबांध में जािकारी रखिा क्जससे कक बुद्चधमिापूर्ण चयि ककया 

जा सके। 

(ii) केिल मािक ितिुओां को ही खरीर्दें तयोंकक िह गुर्ित्ता का 

विश्िास दर्दलािा है। इसललए बबजली के सामाि पर (ISI) का 

चचन्ह खाद्य उत्पार्दों पर (FPO) िथा आभूषर्ों पर (Hallmark) 

हॉलमाकण  रे्दखें| 

(iii) मूलय, शुद्ध िजि, उत्पार्दि एिां उपयोग करिे योग्य अांनिम 

निचथ की सूचिा के ललए लेबल को ध्याि से पढे। 

 

 

 

 

 

 

 

 

 

 

 

 

1 x 4 

= 4 अांक 
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(iv) ितिु एिां सेिाओां को खरीर्दिे पर िकर्द प्राक्प्ि रसीर्द माांगे। 

यह ितिु के िय के सबूि का कायण करेगी| 

(यदद क्रकसी पिीक्षाथी ने केवल िीषकु ददए है तो प्रत्येक िीषकु 

के मलए केवल आधा अंक ददया जाए) 

प्रश्न 28 

 

 

उत्तर 28 

 

 

 

 

 

 

 
 

प्रश्न 28 

 

उत्तर 28 

 

(क) प्र ंध के यनदेिन काय ुके एक तत्त्व के रूप िें 'अमिप्रेिणा' 

की क्रकन्हीं चाि वविेषताओं को सिझाइए । 

 

'अलभप्रेरर्ा' की विशेषिाएँ 

(i) आांिररक अिुभि 

(ii) लक्ष्य आधाररि व्यिहार को जन्म रे्दिी है 

(iii) यह सकारात्मक ि िकारात्मक होिी है।  

(iv) एक जदटल प्रकिया है। 

(यदद क्रकसी पिीक्षाथी ने उपिोक्त िीषकु नहीं ददए है पिंत ुसही 

ववविण ददया है तो उसे पूिे अंक ददए जाए) 

                       अथवा 

(ख) किचुारियों को अमिप्रेरित किने के मलए उपयोग की गई 

क्रकन्ही ंचाि ववत्तीय प्रोत्साहनों को सिझाइए। 

वित्तीय प्रोत्साहि (कोई चार उचचि वििरर् सदहि) 

(i) िेिि िथा भत्ता 

(ii) उत्पार्दकिा सांबांचधि पाररश्लमक/मजर्दरूी प्रोत्साहि 

(iii) बोिस/अचधलाभाांश  

(iv) लाभ में भागीर्दारी 

 

 

 

शीषणक के 

ललए ½ 

अांक + 

वििरर् के 

ललए ½ 

अांक 

1×4=4 

अांक 

अथिा 

 

 

शीषणक के 

ललए ½ 

अांक + 

वििरर् के 

ललए ½ 
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(v) सह-साझेर्दारी/तकां ध (तटाक) विकलप 

(vi) सेिानििवृत्त लाभ 

(vii) अिुलाभ/परक्तिक्जट 

(यदद क्रकसी पिीक्षाथी ने उपिोक्त िीषकु नहीं ददए है पिंत ुसही 

ववविण ददया है तो उसे पूिे अंक ददए जाए) 

अांक 

1×4=4 

अांक 

 

प्रश्न 29 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

मसलक मलमिटेड की प्रयत अंि आय ₹1 थी। उसन ेएक  ैंक से 

10% वावषकु ब्याज की दि से ₹ 10 लाख का ऋण मलया। एक 

वष ुपश्चात ्परिणाि यनम्न प्रकाि से थे : 

ववविण िामि 

सिता (अंिधािक यनधधयााँ) 

(₹10 प्रत्येक के 2,00,000 

अंि) 

₹20 लाख 

10% ऋण ₹10 लाख 

ब्याज तथा कि पूव ुआय ₹6 लाख 

प्रयत अंि आय ₹2 

कि दि 20% थी। 

(i) ऋण के उपयोग से मसलक मलमिटेड की प्रयत अंि आय िें 

 ढ़ोतिी क्यों हुई ? 

(ii) यदद कम्पनी की ब्याज तथा कि पूव ुआय ₹3 लाख होती, 

त  क्या ऋण का उपयोग कम्पनी के मलए लािदायक होता ? 

सिझाइए। 
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उत्तर 29 (i) लसलक लल० के प्रनि अांश आय में िदृ्चध, ऋर् के प्रयोग से 

हुई तयोंकक कम्पिी अपिे कोषों पर जो प्रनििल अक्जणि कर रही 

थी उसकी िुलिा में ऋर् की लागि कम थी। इसे समिा पर 

व्यापार/धिात्मक वित्तीय उत्तोलक भी कहा जािा है| 

(ii) यदर्द कम्पिी की EBIT (ब्याज ि टैतस से पहले की आय) 

रूपये 3 लाख होिी िो ऋर् का  प्रयोग कम्पिी के पक्ष में िहीां 

होिा| 

तपष्टीकरर्  

• यह कम्पिी के ललए प्रनिकूल है तयोंकक कम्पिी का 

(ROI) नििेश पर प्रनििल ऋर् की लागि से अचधक िहीां 

है। 

• यह कम्पिी की (ROI) नििेश पर प्रनििल है (3 लाख/30 

लाख) × 100 जो है 10%, और ऋर् पर ब्याज की र्दर 

भी 10% ही है। 

• इस प्रकार की क्तथनि में प्रनिअांश आय (EPS) होगी 0.8. 

यह प्रनिकूल वित्तीय उत्तोलि की क्तथनि हैं।  

िैकक्लपक वििरर् 

EBIT 3,00,000 

घटा व्याज 10% (1,00,000) 

EBT (टैतस पूिणआय) 2,00,000 

घटा टैतस २०%, (40,000) 

टैतस के बार्द आय (EAT) 1,60,000 

1 अांक + 

1 अांक  

+ वििरर् 

के ललए 2 

अांक  

1+1+2 
 

= 4 अक 

  

www.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.in



29 
 

अांशों की सांख्या 2,00,000 

प्रनि अांश आय (EPS) 0.8. 

तयोंकक प्रनिअांश आय कम हो रही है इसललए यह प्रनिकूल है। 

प्रश्न 30 

 

उत्तर 30 

 

 

 

 

 

 

 

प्रश्न 30 

 

उत्तर 30 

 

 

 

 

 

 

(क) सम्प्रेषण की क्रकन्हीं चाि िनोवैज्ञायनक  ाधाओं को 

सिझाइए। 

मिोिैज्ञानिक बाधाएां (वििरर् सदहि)  

(i) असामनयक मूलयाांकि। 

(ii) सािधािी का अभाि/ध्याि ि होिा 

(iii) सांप्रेषर् के प्रसारर् में लोप/क्षय िथा प्रनि धारर् अपयाणप्ि 

(iv) अविश्िास 

(यदद क्रकसी पिीक्षाथी ने उपिोक्त िीषकु नहीं ददए है पिंत ुसही 

ववविण ददया है तो उसे पूिे अंक ददए जाए) 

                        अथवा 

(ख) सम्प्रेषण की  ाधाओं को दिू किने के मलए कोई चाि उपाय 

सिझाइए। 

सांप्रेषर् की बाधाओां को र्दरू करिे के उपाय (कोई चार वििरर् सदहि) 

(i) सांप्रेषर् करिे से पहले विचार/लक्ष्य तपष्ट करिे चादहए|  

(ii) सन्रे्दश प्राप्िकिाण की आिश्यकिािुसार सांप्रषेर् करें। 

(iii) सांप्रेषर् से पहले अन्य लोगों से भी परामशण करें। 

(iv) सांरे्दश में प्रयुति भाषा, शैली िथा उसकी विषय-ितिु के ललए 

जागरूक रहें। 

 

 

शीषणक के 

ललए ½ 

अांक + 

वििरर् के 

ललए ½ 

अांक 

1×4=4 

अांक 

अथिा 

 

 

शीषणक के 

ललए ½ 

अांक + 

वििरर् के 

ललए ½ 

अांक 
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(v) ऐसा सांप्रेषर् करें जो सुििे िालों के ललए सहायक, 

महत्त्िपूर्ण/मूलयिाि हो| 

(vi) उपयुति प्रनिपुक्ष्ट निक्श्चि करें। 

(vii) ििणमाि िथा भविष्य र्दोिों के ललए सांप्रेषर् करें| 

(viii) सांप्रेषर् का अिुसरर्।  

(ix) एक अच्छा श्ोिा बनिए । 

(यदद क्रकसी पिीक्षाथी ने उपिोक्त िीषकु नहीं ददए है पिंत ुसही 

ववविण ददया है तो उसे पूिे अंक ददए जाए) 

1×4=4 

अांक 

 

प्रश्न 31 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

यनदान सेवाओं िें 'हेलथ रिलैक्स मलमिटेड' िाित का एक अग्रणी 

उपिोक्ता स्वास््य देखिाल ब्राण्ड है। इसके पास संपूण ुदेि िें 

एकीकृत यनदान केन्द्रों का नेटवकु है। अपने ववस्ताि के मलए 

कम्पनी नए िागों की खोज कि िही थी। उच्च स्तिीय प्र ंधकों 

ने व्यावसाययक पयाुविण का ववश्लेषण क्रकया तथा पता लगाया 

क्रक क्योंक्रक वष ु2023 को िोटा अनाज का अंतििाष्रीय वष ु

घोवषत क्रकया है, अतः यह आिा थी क्रक िोटे अनाज की वैश्श्वक 

िााँग लगिग 5% प्रयतवष ु ढ़ जाएगी। क्योंक्रक िाित िोटे 

अनाज का एक अग्रणी उत्पादक तथा यनयाुतक है यह अनुिव 

क्रकया गया क्रक िोटे अनाज उद्योग िें अत्यधधक व्यावसाययक 

अवसि थे। यनदेिक िण्डल ने िोटे अनाज से  ने िोटी, नूडलस 

तथा डोसा मिश्र के वविय-व्यवसाय को  ाज़ाि िें उतािने के 

ववचाि की अनुियत प्रदान की। 
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उत्तर 31 

कम्पनी को अपने को पुनःसंिधचत किना पड़ा। यह ववमिन्न 

प्रकाि की उत्पाद शे्रखणयों िें ववववधता लाई तथा अलग-अलग 

व्यवसाय इकाइयों को सश्म्िमलत किते हुए एक ढााँचे का यनिाुण 

क्रकया। प्रत्येक इकाई का एक प्र ंधक था, जो यनष्पादन के मलए 

उत्तिदायी था तथा श्जसका प्रत्येक इकाई पि अधधकाि था। 

उत्पाददत क्रकए गए ववमिन्न उत्पादों के आधाि पि िानव िश्क्त 

का सिूहीकिण क्रकया गया। 

(i) पनुःसंिचना के पश्चात ्हेलथ रिलैक्स मलमिटेड के 

संगठनात्िक ढााँचे के प्रकाि की पहचान कीश्जए तथा इसका अथ ु

दीश्जए। 

(ii) उपयुकु्त श्स्थयत िें पहचाने गए संगठनात्िक ढााँचे के प्रकाि 

के कोई दो लाि तथा दो हायनयों की व्याख्या कीश्जए। 

(i) विभागीय/प्रभागीय ढाांचा  

यह सांगठि का ऐसा ढाँचा है क्जसमें कई पथृक व्यािसानयक 

इकाईयों होिी है अथिा उद्यम िातिि में एक से अचधक उत्पार्दों 

की पूनि ण बाजार में करिा है। 

(ii) प्रभागीय/विभागीय सांगठि के गुर् (कोई र्दो) 

(i) 'प्रभाग अध्यक्ष की, उत्पार्द विशेषीकरर्, िथा प्रिीर्िा को 

विकलसि करिे हैं। क्जससे िे उच्च पर्दों (तथािों) पर पर्दोन्िनि 

के ललए िैयारहो जािे है| 

 

(ii) प्रभाग अध्यक्ष लाभ के ललए जिाबरे्दह होिे हैं। ककसी भी 

प्रभाग से सांबांचधि लागि की गर्िा आसािी से की जा सकिी 

 

 

 

 

 

 

 

 

 

 

 

ढाांचे कक 

पहचाि के 

ललए 1 

अांक + 

अथण के 

ललए 1 

अांक  

+ 2 अांक 

गुर्ों के 

ललए  + 2 

अांक र्दोष 

के ललए  
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है। इससे कायण निष्पार्दि गर्िा का सही आधार लमल जािा है 

यह उत्तर र्दानयत्ि निक्श्चि करिे में भी सहायिा करिा है। 

(iii) एक तिायत्त (तििांत्र) इकाई होिे के कारर् प्रत्येक प्रभाग 

शीघ्र निर्णय ले सकिा है। अि: लचीलापि िथा पहल को 

प्रोत्साहि लमलिा है| 

(iv) ियी उत्पार्द इकाई प्रारांभ करिे के ललए केिल प्रभाग प्रधाि 

िथा कमणचाररयों की नियुक्ति मात्र की आिश्यकिा होिी है इससे 

ििणमाि इकाईयों के काम काज में कोई बाघा िहीां आिी| 

 

(iii) विभागीय/प्रभागीय ढाँचे के र्दोष (कोई र्दो) 

(i) विलभन्ि प्रभागों में कोषों के आबांटि को लेकर झगड़े हो जािे 

हैं। 

(ii) इसमें काम की बार-बार र्दोहराई हो जािे से लागि मूलय बढ 

सकिा है। 

(iii) ककसी विशेष प्रभाग को यह पयणिेक्षर्ाथण 'प्रबांधक अचधकारों 

के साथ नियुति करिे हैं। इस प्रकार प्रबांधक अचधकार िो पािे 

है| लेककि अपिे आप को तििांत्र रूप में तथावपि करिे के चतकर 

में सांगठि के दहिों को भुला रे्दिे हैं। 

 

(यदद क्रकसी पिीक्षाथी ने उपिोक्त िीषकु ददए ब ना ही सही 

ववविण ददया है तो उसे पूिे अंक ददए जाए) 

 

1+1+2+2 
= 6 अांक 
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प्रश्न 32 

 

 

 

उत्तर 32 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(क) वैज्ञायनक प्र ंध की यनम्नमलखखत तकनीकों को सिझाइए : 

(i) सिय अध्ययन 

(ii) वविेदात्िक पारिश्रमिक प्रणाली 

(iii) काय ुका प्रिापीकिण एव ंसिलीकिण 

िैज्ञानिक प्रबन्ध की िकिीक 

(i) समय अध्ययि 

• समय अध्ययि भली भाँनि पररभावषि कायण को पूरा करिे पूरा 

के ललए मािक समय का निधाणरर् करिा है  

• समय अध्ययि का उद्रे्दश्य कलमणयों की सांख्या का निधाणरर्, 

उपयुति प्रेरक योजिाओां को िैयार करिा एिां श्म लागि का 

निधाणररर् करिा है| 

(ii) विभेर्दात्मक पाररश्लमक प्रर्ाली 

• विभेर्दात्मक पाररश्लमक प्रर्ाली ऐसी िकिीक है जो कुशल ि 

अकुशल कारीगर में अांिर करिी है यह कुशल कारीगर को 

ईिाम रे्दिी है। ि कम कुशल कारीगर को कायणकुशलिा में 

सुधार के ललए प्रेररि करिी है। 

• इसमें मजर्दरूी की र्दो र्दरें होिी है – एक उि कलमणयों के ललए जो 

मािक से अचधक उत्पार्दि करिे हैं और र्दसूरी उिके ललए जो 

मािक उत्पार्दि से कम उत्पार्दि करिे हैं। 

(iii) कायण का प्रमापीकरर् और सरलीकरर् 

• प्रमापीकरर् से अलभप्राय प्रत्येक व्यािसानयक किया के ललए 

मािक निधाणरर् प्रकिया स ेहै, प्रमापीकरर् प्रकिया, कच्चा 

 

 

 

 

2+2+2 = 

6 अांक 
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प्रश्न 32 

 

 

 

उत्तर 32 

 

 

माल, समय, उत्पार्द, मशीिरी, कायण पद्धनि अथिा कायण शिों 

के ललए हो सकिी है। 

• सरलीकरर् का उद्रे्दश्य व्यथण ककतमों, आकार एिां आयाम को 

समाप्ि करिा होिा है। इससे श्म, मशीि एिां उपकरर्ों की 

लागि में बचि होिी है। 

                         अथवा 

(ख) प्र ंध के यनम्नमलखखत मसद्धान्तों को सिझाइए : 

(i) अधधकाि एवं उत्तिदाययत्व 

(ii) केन्द्रीकिण एवं ववकेन्द्रीकिण 

(iii) पहलक्षिता 

(i) अचधकार एिां उत्तरर्दानयत्ि  

• अचधकार से िात्पयण एक व्यक्ति के उस अचधकार से है क्जसके 

आधार पर िह आरे्दश रे्दिा है। ि था उत्तरर्दानयत्ि इस प्राचधकार 

का पररर्ाम होिा है| इि र्दोिों के बीच सांिुलि होिा चादहए| 

• सांगठि को प्रबांधकीय शक्तियों के र्दरुुपयोग को रोकि ेके ललए 

पयाणप्ि बचाि करिा चादहए लेककि इसके साथ ही अपिे 

उत्तरर्दानयत्िों की पूनि ण के ललए प्रबांधकों को पयाणप्ि अचधकार 

दर्दए जािे चादहए 

(ii) केन्द्रीकरर् और विकेन्द्रीकरर् 

• निर्णय लेिे के अचधकार का धु्रिीकरर्-केन्द्रीकिण कहलािा है 

जबकक एक से अचधक लोगों में निर्णय लेिे के अचधकार का 

वितिार ववकेन्द्रीकिण कहलािा है।  

 

 

 

 

 

 

अथिा 

 

 

 

 

 

 

 

 

2+2+2 = 

6 अांक 
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• यह आिश्यक है कक विकेन्द्रीकरर् के माध्यम से अधीितथों ि 

प्रबांधकों के सक्म्मललि प्रयासों में सांिुलि तथावपि ककया जाए 

िथा अांनिम अचधकार को केन्द्रीकृि ही रखा जाए 

(iii) पहल क्षमिा 

• कलमणकों को अपिी बेहिरी के ललए योजिाएां बिािे के ललए 

प्रोत्सादहि ककया जािा चादहए।  

• कम्पिी के पास कमणचारी सुझाि िांत्र होिा चादहए क्जसस े

पहल/सुझाि क्जिसे लागि/समय की बचि हो प्राप्ि ककए जा 

सके ि कमणचाररयों को पुरतकृि ककया जा सके। 

प्रश्न 33 

 

 

 

 

 

 

 

 

 ी जे प्राइवेट मलमिटेड 'प्योि िाइन' ब्राण्ड नािक जैववक िैंपू 

का उत्पादन किने वाली एक कम्पनी है। यह नाि कम्पनी को 

उत्पाद वविेदीकिण िें सहायता किेगा। लक्षक्षत  ाज़ाि िें ग्राहकों 

की आवश्यकताओं को पूिा किने के मलए कम्पनी ने प्राकृयतक 

अवयवों जैसे किी पत्ता, नीि, चावल आदद का प्रयोग क्रकया। 

कम्पनी का केन्द्र-ब दं ुग्राहकों की आवश्यकताओं की संतुश्ष्ट है। 

िैंपू की अधधक िााँग लेने के मलए इसने  ाज़ाि िें उपलब्ध अन्य 

िैपुओं की तुलना िें कि िूलय यनधाुिण का यनणुय मलया। िैंपू 

के  ािे िें तथा इसकी वविेषताओं आदद को ग्राहकों को सूधचत 

किने के मलए कम्पनी ने ववमिन्न प्रवतनु तिीकों का उपयोग 

क्रकया। ग्राहकों की अधधकति संतुश्ष्ट तथा ग्राहकों की मिकायतों 

का यनपटान किने हेतु कम्पनी ग्राहक सेवा केन्द्र के ववविण िी 

प्रदान कि िही है।  
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उत्तर 33 

 

उपयुकु्त अनुच्छेद िें चधचतु ववपणन के क्रकन्हीं तीन कायों की 

पहचान कीश्जए तथा सिझाइए। 

विपर्ि के कायण (कोई िीि) 

(i) ब्ाांडर्ग: ब्ाांडर्ग ककसी उत्पार्द को िाम रे्दिे की िह प्रकिया है 

जो िमण के उत्पार्द को प्रनियोचगयों के उत्पार्दों से लभन्ि प्रर्दलशणि 

करिे में सहायक होिा है। 

(ii) मूलय निधाणरर्: उत्पार्द का मूलय िह रालश है क्जसका 

भुगिाि उत्पार्द प्राप्ि करिे के ललए ग्राहक को करिा होिा है। 

(iii) सांिधणि: ितिु एिां सिेाओां के सांिधणि में उपभोतिाओां को 

िमण के उत्पार्द एिां उसकी विशेषिाओां के सांबांध में सूचिा रे्दिा 

िथा उन्हें इि उत्पार्दों को िय करिे के ललए प्रेररि करिा 

सक्म्मललि होिा है। 

(iv) ग्राहक समथणि सेिाएँ: विपर्ि प्रबन्ध का एक महत्त्िपूर्ण 

कायण ग्राहक समथणि सेिाओां का विकास करिा है जैसे बबिी के 

बार्द की सेिाएँ, ग्राहकों की लशकायि को र्दरू करिा िथा 

समायोजि को रे्दखिा, साख सेिाएां, रख रखाि सेिाएँ िथा 

िकिीकी सेिाएँ प्रर्दाि करिा िथा उपभोतिा सूचिाएँ रे्दिा। ये 

सभी सेिाएँ ग्राहकों को अचधकिम ्सांिुक्ष्ट प्रर्दाि करिी हैं।  

 

 

पहचाि के 
ललए के ½ 
अांक + 
वििरर् के 
ललए 1½ 
अांक  

2x3 = 6 

अांक 

 

प्रश्न 34 

 

उत्तर 34 

 

 

(क) औपचारिक एवं अनौपचारिक संगठन िें कोई चाि ब न्द ुदेते 

हुए अन्तिेद कीश्जए। 

औपचाररक ि अिौपचाररक सांगठि में अांिर (कोई चार) 

आधार औपचाररक सांगठि अिौपचाररक सांगठि 

 

 

4 x 1½ = 

6 अांक 
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अथण अचधकार सांबांधों का 

र्दाँचा प्रबन्ध िैयार 

करिा है 

सामाक्जक सांबांधों का 

िांत्र कमणचाररयों स ेकी 

अन्िः किया से 

आरांभ होिा है 

उद् गम कम्पिी के नियम 

िथा िीनियों के 

पररर्ाम तिरूप 

प्राांरभ होिा है। 

सामाक्जक अन्िः 

किया के पररर्ाम 

तिरूप आरांभ होिा है 

अचधकार प्रबांध में तिर की 

क्षमिािुसार 

दृक्ष्टगोचर होिा है। 

व्यक्तिगि गुर्ों से 

दृक्ष्टगोचर होि है| 

व्यिहार यह नियमों द्िारा 

निरे्दलशि होिा है 

इसकी गनिविचध का 

कोई पैटिण िहीां है। 

सांप्रेषर् का प्रिाह सांप्रेषर् सोपाििि 

चलिा है 

कोई निधाणररि विचध 

िहीां है। ककसी भी 

दर्दशा की ओर मुड़ 

सकिा है। 

प्रकृनि दृढ या निक्श्चि पररििणिशील 

िेितृ्ि प्रबांधक ही िेिा है प्रबांधक िेिा हो भी 

सकिा है िहीां भी। 

चुिाि समूह द्िारा 

होिा है| 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

अथिा 
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प्रश्न 34 

उत्तर 34 

 

 

 

                        अथवा 

(ख) यनयोजन की क्रकन्हीं चाि सीिाओं को सिझाइए। 

नियोजि की सीमाए ँ(कोई चार वििरर् सदहि) 

(i) दृढिा उत्पन्ि करिा है। 

(ii) पररििणिशील िािािरर् में प्रभािी िही। 

(iii) रचिात्मकिा को कम करिा है। 

(iv) भारी लागि सक्न्िदहि है।  

(v) समय िष्ट करिे िाली प्रकिया है। 

(vi) सिलिा का आश्िासि िहीां 

(यदद क्रकसी पिीक्षाथी ने उपिोक्त िीषकु ददए ब ना िी सही 

ववविण ददया है तो उसे पूिे अंक ददए जाए) 

 

 

शीषणक के 

ललए ½ 

अांक 

+ वििरर् 

के ललए 1 

अांक 

4 x 1½ = 

6 अांक 
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Marking Scheme 

Strictly Confidential (For Internal and Restricted use only) 

Senior School Certificate Supplementary Examination, July 2024 

SUBJECT NAME: BUSINESS STUDIES (66/S/3) 

General Instructions: - 

1 You are aware that evaluation is the most important process in the actual 
and correct assessment of the candidates. A small mistake in evaluation may 
lead to serious problems which may affect the future of the candidates, 
education system and teaching profession. To avoid mistakes, it is requested 
that before starting evaluation, you must read and understand the spot 
evaluation guidelines carefully. 

2 “Evaluation policy is a confidential policy as it is related to the 
confidentiality of the examinations conducted, Evaluation done and 
several other aspects. Its’ leakage to public in any manner could lead to 
derailment of the examination system and affect the life and future of 
millions of candidates. Sharing this policy/document to anyone, 
publishing in any magazine and printing in News Paper/Website etc may 
invite action under various rules of the Board and IPC.” 

3 Evaluation is to be done as per instructions provided in the Marking Scheme. 
It should not be done according to one’s own interpretation or any other 
consideration. Marking Scheme should be strictly adhered to and religiously 
followed. However, while evaluating, answers which are based on latest 
information or knowledge and/or are innovative, they may be assessed 
for their correctness otherwise and due marks be awarded to them. In 
class XII , while evaluating two competency- based questions, please try 
to understand given answer and even if reply is not from marking 
scheme but correctly competency is enumerated by the candidate, due 
marks should be awarded. 

4 The Marking scheme carries only suggested value points for the 
answers.These are in the nature of Guidelines only and do not constitute the 
complete answer. The students can have their own expression and if the 
expression is correct, the due marks should be awarded accordingly. 

5 The Head-Examiner must go through the first five answer books evaluated by 
each evaluator on the first day, to ensure that evaluation has been carried out 
as per the instructions given in the Marking Scheme. If there is any variation, 
the same should be zero after delibration and discussion. The remaining answer 
books meant for evaluation shall be given only after ensuring that there is no 
significant variation in the marking of individual evaluators. 
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6 Evaluators will mark( √ ) wherever answer is correct. For wrong answer 
CROSS ‘X” be marked. Evaluators will not put right (✓)while evaluating 
which gives an impression that answer is correct and no marks are awarded. 
This is most common mistake which evaluators are committing. 

7 If a question has parts, please award marks on the right-hand side for each 
part. Marks awarded for different parts of the question should then be totaled 
up and written in the left- hand margin and encircled. This may be followed 
strictly. 

8 If a question does not have any parts, marks must be awarded in the left-
hand margin and encircled. This may also be followed strictly. 

9 If a student has attempted an extra question, answer of the question 
deserving more marks should be retained and the other answer scored out 
with a note “Extra Question”. 

10 No marks to be deducted for the cumulative effect of an error. It should be 
penalized only once. 

11 A full scale of 80 marks has to be used. Please do not hesitate to award full 
marks if the answer deserves it. 

12 Every examiner has to necessarily do evaluation work for full working hours 
i.e., 8 hours every day and evaluate 20 answer books per day in main subjects 
and 25 answer books per day in other subjects (Details are given in Spot 
Guidelines). 

13 Ensure that you do not make the following common types of errors 
committed by the Examiner in the past: 

● Giving more marks for an answer than assigned to it. 

● Wrong totalling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the 

title page. 
● Wrong question wise totalling on the title page. 
● Leaving answer or part thereof unassessed in an answer book. 
● Wrong totalling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right 

tick mark is correctly and clearly indicated. It should merely be a line. 
Same is with the X for incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks 
awarded. 
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14 While evaluating the answer books if the answer is found to be totally 
incorrect, it should be marked as cross (X) and awarded zero (0)Marks. 

15 Any un assessed portion, non-carrying over of marks to the title page, or 
totaling error detected by the candidate shall damage the prestige of all the 
personnel engaged in the evaluation work as also of the Board. Hence, in 
order to uphold the prestige of all concerned, it is again reiterated that the 
instructions be followed meticulously and judiciously. 

16 The Examiners should acquaint themselves with the guidelines given in the 
“Guidelines for spot Evaluation” before starting the actual evaluation. 

17 Every Examiner shall also ensure that all the answers are evaluated, marks 
carried over to the title page, correctly totaled and written in figures and 
words. 

18 The candidates are entitled to obtain photocopy of the Answer Book on 
request on payment of the prescribed processing fee. All 
Examiners/Additional Head Examiners/Head Examiners are once again 
reminded that they must ensure that evaluation is carried out strictly as per 
value points for each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior Secondary School Supplementary Exam, July 2024 

BUSINESS STUDIES (Subject Code — 054) 

[ Paper Code — 66/S/3] 
 

Q. No. EXPECTED ANSWER / VALUE POINTS Marks 

1. Q.  ‘If there is a fixed place for everything and it is present 
there, then there will be no hindrance in the activities of 
business/factory.’ 

 
The principle of management that is highlighted in the above 

statement is: 
(A) Discipline 
(B) Order 
(C) Unity of direction 
(D) Esprit de corps 
 
Ans. (B) Order 

 

 
 
 
 
 
 
 
 
 
 
 
1 mark 

2. Q. Prakhar Ltd. is the manufacturer of life-saving drugs. 
There was an outbreak of flu two years back that spread 
quickly and affected many people. Prakhar Ltd. made huge 
investment on research and development and was able to 
develop a medicine for the same. The medicine was very 
effective in controlling the flu and now it has become a 
necessity for the patients. As a result, the demand for the 
medicine increased manifold. Considering the demand, the 
company increased the price of the medicine. The government 
observed the situation. Since it was the only available medicine 
to combat flu, the Government declared it as an essential 
medicine and regulated its price to make it affordable for the 
public. 
From the following, identify the factor(s) affecting the 
determination of price discussed in the above case: 
(i) Product cost 
(ii) Marketing methods used 
(iii) Utility and demand 
(iv) Government and legal regulations 
 
(A) (iv) only 
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(B) (i), (iii) and (iv) 
(C) (iii) and (iv) 
(D) (i), (ii) and (iii) 

Ans.(B) (i), (iii) and (iv) 

 

 
 
 
 
1 mark 

3. Q. ‘The management should not close its ears to any 
constructive suggestions made by the employees but reward 
them for their suggestions which results in substantial 
reduction in costs.’ 
Which principle of scientific management is discussed in the 
above statement? 
(A)   Science, Not Rule of Thumb 
(B)   Harmony, Not Discord 
(C)  Cooperation, Not Individualism 
(D)  Development of Each and Every Person to His or Her 

Greatest Efficiency and Prosperity 
 
Ans. (C) Cooperation, Not Individualism 
 

 

 

 

 

 

 

 

1 mark 

4. Q. Read the following statements: Assertion (A) and Reason 
(R). Choose the correct alternative from the options given 
below: 

Assertion (A): While taking dividend decision, the extent of 
retained earnings also influences the financing 
decision of the firm. 

Reason (R): The firm does not require funds to the extent of 
re-invested retained earnings. 

 
(A) Both Assertion (A) and Reason (R) are true and Reason 

(R) is the correct explanation of Assertion (A). 
(B) Both Assertion (A) and Reason (R) are true, but Reason 

(R) is not the correct explanation of Assertion (A). 
(C) Assertion (A) is true, but Reason (R) is false. 
(D) Assertion (A) is false, but Reason (R) is true. 
 
Ans. (A) Both Assertion (A) and Reason (R) are true and Reason 
(R) is the correct explanation of Assertion (A). 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

5. Q. As per the Consumer Protection Act, 2019, the consumer has          
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a right to file a complaint and to be heard in case of 
dissatisfaction with a good or a service. 
 
The consumer right being referred to here is ___________: 
(A) Right to Safety 
(B) Right to be Heard 
(C) Right to be Informed 
(D) Right to Seek Redressal 

Ans. (B) Right to be Heard 
 

 
 
 
 
 
 
 
 

1 mark 

6. Q.  Which of the following options denotes the correct 
sequence of steps in the process of 'Organizing’ function of 
management? 
(A) Departmentalisation →Identification and division of work 

→ Establishing authority and reporting relationships → 
Assignment of duties 

(B) Departmentalisation → Identification and division of work 
→ Assignment of duties →Establishing authority and 
reporting relationships 

(C) Identification and division of work → Establishing 
authority and reporting relationships → Assignment of 
duties → Departmentalisation 

(D) Identification and division of work → Departmentalisation 
→ Assignment of duties → Establishing authority and 
reporting relationships 

 
Ans. (D) Identification and division of work→   
Departmentalisation → Assignment of duties →     Establishing 
authority and reporting relationships 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

7. Q. Which of the following is not a function of middle level 
management? 
(A) To interpret the policies framed by the top management 
(B) To ensure that their department has the necessary 

personnel 
(C) To coordinate the activities of different departments 
(D) To assign necessary duties and responsibilities to the 

personnel in their departments 

Ans. (C) To coordinate the activities of different departments  

 
 
 
 
 
 
 
 
 

1 mark 
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8. Q. The level(s) of packaging shown in the picture given below 
is/are: 
 

 
 
(A) Primary level only 
(B) Primary and secondary levels 
(C) Primary, secondary and transportation packaging levels 
(D) Primary and transportation packaging levels 

Ans. (D) Primary and transportation packaging levels 

 

     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

9. Q. Match the explanation of different sources of external 
recruitment given in Column I with the sources given in 
Column II. 
     Column I Column II 

1 Websites designed and dedicated 
for the purpose of providing 
information about both, job 
seekers and job openings 

(i) Casual 
Callers 
 

2. Liaison of business houses with 
the educational institutes to 
recruit qualified personnel for 
various jobs 

(ii) Web 
Publishing 
 

3. Notice placed on the notice-board 
of the enterprise specifying the 
details of the jobs available 

(iii) Campus 
Recruitment 
 

4. Database of unsolicited applicants 
in the office, prepared and 
screened to fill vacancies 

(iv) Direct 
Recruitment 
 

 
Choose the correct option from the following: 
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(A) 1-(iii), 2-(i), 3-(iv), 4-(ii) 
(B) 1-(i), 2-(iii), 3-(iv), 4-(ii) 
(C) 1-(ii),2-(iv), 3-(i), 4-(iii) 
(D) 1-(ii), 2-(iii),3-(iv), 4-(i) 

Ans. (D) 1-(ii), 2-(iii), 3-(iv), 4-(i) 

 

 
 
 
 
 

1 mark 

10. Q. When the products are sold by a manufacturer to the end 
consumer without involving any intermediary, the type of 
channel of distribution used is: 
(A) Zero level channel 
(B) One level channel 
(C) Two level channel 
(D) Three level channel 

 
Ans. (A) Zero level channel 

 

 
 
 
 
 
 
 
 

1 mark 

11. Q. Ashok Industries Ltd. is a company manufacturing 
components for automobile industries. In this company, 
standards have been set for every manufacturing activity 
including standardisation of process, raw material, time, 
product, machinery and methods which must be adhered to 
during production. This has been done to bring excellence in 
quality of the materials produced. The foreman of the 
company, Mehra, has designed the jobs of the workers in such 
a manner that unnecessary movements are eliminated and it 
takes less time to complete the jobs efficiently. He has also 
scientifically analysed the duration and frequency of rest 
intervals that should be provided to the workers in the factory 
so that they can regain stamina and work efficiently. 
Out of the following, which technique of scientific management 
has not been discussed in the above paragraph? 
(A) Fatigue study 
(B) Method study 
(C) Motion study 
(D) Standardisation and simplification 
 
Ans. (B) Method Study 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 
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12. Q. Prashant started a grocery retail business. Due to 
increasing popularity of online shopping, the degree of 
competition is very high in this business. His requirement of 
working capital will be high as he would have to hold larger 
stocks of finished goods to meet urgent orders from 
customers. The factor affecting the requirement of working 
capital is: 
(A) Availability of raw material 
(B) Scale of operations 
(C) Level of competition 
(D) Inflation 
 
Ans. (C) Level of competition 

 

 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

 13. Q. Aparna and Priyanka are working in ‘Shreya Industries’, 
a company dealing in readymade garments for women. Each 
of them was assigned the responsibility of producing 10 
dresses each within 5 days at a cost of ₹ 1,000 per dress. 
Aparna was able to produce 10 dresses at a cost of ₹ 1,100 per 
dress within 5 days, whereas Priyanka was able to produce 
only 8 dresses at a cost of ₹ 900 per dress in 5 days.  
Which of the following statements is correct with respect to 
the above? 
(A) Aparna is efficient but Priyanka is effective. 
(B) Aparna is effective but Priyanka is efficient. 
(C) Both Aparna and Priyanka are effective. 
(D) Both Apana and Priyanka are efficient. 

 

Ans. (B) Aparna is effective but Priyanka is efficient. 
 

       
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

14. Q. Statement I: As per the Consumer Protection Act, 2019, the 
District Commission has a jurisdiction to 
entertain complaints where value of goods or 
services paid as consideration does not exceed 
₹ 10 crores. 

Statement II: If any of the parties is not satisfied by the order of 
the District Commission, they can appeal 
against such order to the State Commission on 
the grounds of facts or law within a period of 
forty-five days from the date of order. 
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Choose the correct option from the following: 
(A) Statement I is true and Statement II is false. 
(B) Statement II is true and Statement I is false. 
(C) Both the Statements are true. 
(D) Both the Statements are false. 

Ans. (B) Statement II is true and Statement I is false. 

 

 

 

 

 

1 mark  

15. Q.  Statement I: Shareholders' funds involve commitment 
regarding the payment of returns or the 
repayment of capital. 

Statement II : Debt is considered to be the cheapest of all the 
sources of funds and tax deductibility of interest 
makes it still cheaper. 

Choose the correct option from the following: 
(A) Statement I is true and Statement II is false. 
(B) Statement II is true and Statement I is false. 
(C) Both the Statements are true. 
(D) Both the Statements are false. 
 
Ans. (B) Statement II is true and Statement I is false. 

 

 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

16. Q. In T-pex Ltd, a company trading in stationery items, it was 
decided that all purchases would be made from AK Ltd. on 
credit basis with credit period of at least 7 days. This was done 
because no other company was offering credit facility. Which 
type of plan has been referred to in the above paragraph? 
(A) Rule 
(B) Policy 
(C) Method 
(D) Strategy 

Ans. (B) Policy 

 

 
 
 
 
 
 
 
 
 
 

1 mark 

17. Q. Techpack Ltd. is a company in Hyderabad that 
produces and sells packaging material to various 
industries across the nation in a B2B e-business form. It is 
a dynamic company. Over the years, due to rising 
concerns for climate change and shift of preferences of 
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Indian customers towards environment-friendly products, 
the company has shifted to the production of 
biodegradable packaging material. Moreover, due to its 
digital transformation, the company has tremendously 
benefited as its customers could place orders and make 
cashless payments in various online modes. 
The dimensions of business environment discussed in the 
above case are: 

(A) Economic and social environments 
(B) Social and technological environments 
(C) Technological and economic environments 
(D) Social and political environments 
 
Ans. (B) Social and technological environments 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

18. Q. Which of the following statements is correct for ‘short term 
investment decisions’? 
(A) They affect the earning capacity of a business in the long 

run. 
(B) These decisions normally involve huge amounts of 

investment. 
(C) These decisions affect the liquidity as well as profitability 

of a business. 
(D) They are irreversible except at a huge cost. 

Ans. (C) These decisions affect the liquidity as well as profitability 
of a business.  

 

 

 

 

 

 

 

1 mark 

19. Q. ‘V.K. Public School’ had a vacancy for an English teacher 
for Class XII. After preliminary screening of the applications, 
they shortlisted 10 candidates. Now, the school management 
asked the candidates to give a demonstration lesson related to 
the curriculum of Class XII. The purpose of these 
demonstration lessons was to measure the existing teaching 
skills of the candidates and proficiency in the area of 
profession. 
Identify the type of selection test used by ‘V.K. Public School’ 
in the above case: 
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(A) Aptitude test 
(B) Intelligence test 
(C) Trade test 
(D) Personality test 
 
Ans. (C) Trade test 

 

 
 
 
 
 

1 mark 

20. Q. The purpose of the principle of ‘unity of command’ is that: 
(A) It avoids dual subordination. 
(B) It subordinates individual interests to organizational 

interests. 
(C) It promotes a team spirit of unity and harmony among 

employees. 
(D) It concentrates decision-making authority at the top level. 

Ans. (A) It avoids dual subordination. 
 

 
  
 
 
 
 
 
 

1 mark 

21. (a) Q. State any three factors affecting financing decision. 
 
Ans. Factors affecting financing decision (any three): 

(i) Cost: The cost of raising funds through different sources 
are different and a prudent financial manager would 
normally opt for a source which is the cheapest.  
 

(ii) Risk: The risk associated with each of the sources is 
different.  

 
(iii)  Floatation Cost: Higher the floatation cost, less attractive 

the source.  
 

(iv) Cash Flow Position: A stronger cash flow position may 
make debt financing more viable than funding through 
equity.  

 
(v) Fixed operating costs: If a business has high fixed 

operating costs, it must reduce fixed financing costs, thus, 
lower debt financing is better. 

 
(vi) Control Considerations: Issues of more equity may lead to 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

= 1 x 3  
 
 
 

= 3 marks 
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dilution of management’s control over the business while 
debt financing has no such implication. 

 
(vii) State of capital market: State of the capital market may 

also affect the choice of source of fund as during the period 
when stock market is rising, more people invest in equity, 
whereas depressed capital market may make issue of equity 
shares difficult for any company.  

 
(If an examinee has only listed the points, ½ mark for each 
point should be awarded.) 
 

OR 
(b) Q. State any three protective functions of Securities and 
Exchange Board of India. 
Ans. Protective functions of SEBI (any three): 
(a) It prohibits fraudulent and unfair trade practices like misleading 
statements, manipulations, price rigging etc. 
(b) It controls insider trading and imposes penalties for such 
practices. 
(c) It undertakes steps for investor protection. 
(d) It promotes fair practices and code of conduct in securities 
market. 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
OR 
 
 
 
 
= 1 x 3 
 
= 3 marks 
 

 

22. Q. Dhiren Patel is the Chief Executive Officer of a milk 
processing company. He is a very effective manager. He is 
quite organized in his work and exhibits exemplary 
behaviour. 
Dhiren Patel insists that all managers and subordinates in the 
organization should follow a chain of authority that runs 
from top to bottom for all communication purposes. 
 
Identify and explain the general principle of management 
highlighted in the above case. 

 
Ans. Scalar Chain  
 
Explanation of Scalar Chain  

 
 
 
   
 
 
 
 
 
 

1 mark for 
identifying 
 
        +  
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 The formal lines of authority, i.e., a chain of authority 
and communication that runs from top to bottom is 
known as scalar chain. 

 The scalar chain should not be violated in the normal 
course of formal communication. However, if there is an 
emergency, a shorter route known as Gang Plank may be 
used so that communication may not be delayed. 

 
 
2 marks for 
explanation 

 
 
 
  = 3marks 

 

23. (a) Q. Explain ‘Democratic (Participative) style of leadership’. 
 
Ans. Democratic (Participative) style of leadership 

 Democratic style of leadership is one in which the leader 
develops action plans and takes decisions in consultation 
with his subordinates. 

 A democratic leader will encourage the subordinates to 
participate in decision-making.  

 He exercises control by using forces within the group. 
 

OR 
 

(b) Q. ‘An intelligent manager should make use of positive 
aspects of informal channels and minimise the use of 
negative aspects of this channel of communication.’  

 
         In the light of the above statement, explain any one 

positive and any two negative aspects of informal 
channels of communication. 

Ans.  
Positive aspects of informal channel of communication  
(any one) 

 Informal channels carry information rapidly and may be 
useful to the manager at times.  

 Informal channels are used by the managers to transmit 
information and know the reactions of his/her subordinates. 
 

Negative aspects of informal channel of communication (any two) 
 The informal communication spreads rapidly but  sometimes 

gets distorted.  
 It is very difficult to detect the source of such 

communication. 

 
 
 
 
 
 
 = 1 x 3  
 
 = 3 marks 

 
OR 
 
 
 
 
 
 
 
 
 
 
 
1 
 
+ 
 
 
 

1 x 2 
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  It also leads to generate rumours and sometimes may hamper 
work environment.  

 

 
= 1+2 

= 3 marks 

24. Q. A popular magazine published an article on job cuts across 
the globe. It stated that due to reasons like cost cutting, 
market conditions and technological advancement, almost two 
lakh people in the IT sector have lost their jobs during the last 
year. 

This was read and discussed by employees of Techwire Ltd. a 
software development company in India. It created a lot of 
unrest among them and their morale came down. The 
productivity of the employees started declining. The Chief 
Executive Officer of the company observed the insecurity 
among the staff about their jobs. Understanding his role as 
the leader, he wrote an e-mail to all the employees assuring 
them about the stability of their future income and job. This 
communication gave the employees psychological and 
emotional satisfaction and showed positive results in terms of 
their performance. The Chief Executive Officer was able to 
make the subordinates act in a desired manner to achieve the 
organizational goals, without giving them any monetary 
incentives. 

 (i)  Identify and explain the incentive used by the Chief 
Executive Officer to improve the performance of the 
employees. 

 (ii) State the need of the employees as per Maslow's 
Hierarchy of Needs theory which was satisfied in the 
above case. 

Ans.  

(i) Job Security 
It is a non-monetary incentive in which employees are given 
certain stability about the future income and work so that they do 
not feel worried on these aspects and work with greater zeal. 
 

(ii) As per Maslow’s Need Hierarchy theory, Safety and Security 

 
 
 
 
   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1 mark for 
identifying the 
incentive   +  
1 mark for 
explanation 
 
+  
 1 mark for 
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needs of the employees were satisfied in the above case which 
include providing security and protection from physical and 
emotional harm.  

 

stating the need 
 
= 1+1+1 
 

= 3marks 

25. Q. Anmol Pathak, a restaurant owner, observed that over a 
period of one year, the costs of raw material, transportation 
and packaging had increased. As a result the total cost had 
increased by 15%. He thought that it was not easy to keep a 
check on each and every activity in the organisation, so he 
decided to study deeply the increase in these three costs. He 
prepared a table of acceptable and actual increase in cost as 
given below: 
 
S.No. Expense Acceptable 

increase in 
cost 

Actual 
increase in 
cost 

1. Raw material 4% 7% 

2. Transportation 10% 8% 

3. Packaging 10% 20% 

 
Explain the two concepts related to a function of management 
that will be used by Anmol Pathak to analyse the deviations. 
 

Ans. (a) Critical Point Control 
Critical Point Control focuses on key result areas which are 
critical to the success of an organisation since it is neither 
economical nor easy to keep a check on each and every 
activity of the organisation. 

  
(b) Management by Exception 
Management by Exception states that only significant 
deviations which go beyond the permissible limit should be 
brought to the notice of the management for corrective action. 

 

 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1 mark for 
naming +       
1 mark for 
explanation 
 
 
 
  = 2 x 2 
 

  = 4 marks 

26. Q. Give the meaning of Money Market. Distinguish between 
Capital Market and Money Market on the basis of the 
following: 
(i) Instruments 
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(ii) Liquidity 
(iii) Expected returns 
 

Ans. Money Market- Meaning 
Money Market is a market for short term funds which deals in 
monetary assets whose period of maturity is upto one year. 
 
 Distinction between Capital Market and Money Market 
 
BASIS CAPITAL 

MARKET
  

MONEY MARKET 

Instruments Instruments in capital 
market are Equity 
shares, Debentures, 
Bonds, Preference 
shares, etc. 

Instruments in money 
market are Short term 
debt instruments like 
Treasury Bill, call 
money, commercial 
paper, certificate of 
deposits. 
 

Liquidity Securities are liquid 
as these are 
marketable on stock 
exchange but, they 
are less liquid in 
comparison to money 
market instruments. 

Money market 
instruments are highly 
liquid as Discount 
finance House of India 
(DFHI) provides a ready 
market for them. 
 

Expected 
returns 

The expected return 
is high as there are 
chances of earning 
capital gains along 
with high dividends  
and bonus issues. 

The expected return is 
less due to short duration. 

 
 

 
 
 
 
 
1 mark for the 
meaning 
      
 
 +  
 
 
 
 
1 mark for 
each point of 
difference 
 
 
 
 
 
 
= 1 + 3 
 
 
 
 
=4 marks 
 
   

27. 
Q. Ishaan wanted to buy five litres of mustard oil. Before he 
went to the market, he surfed the Internet to find out about the 
various brands of mustard oil available in the market. On 
visiting the retail shop, he could find five different brands of 
mustard oil but to his surprise, only one of them had 'FSSAI' 
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certification mark, which he decided to buy. He read the label 
on the oil container to find out the price and weight of the oil. 
While paying for the oil he ensured that the cashier gave him 
the cash memo.  

Ishaan was a responsible consumer. State any four 
responsibilities that Ishaan kept in mind while purchasing the 
mustard oil. 

Ans. Responsibilities that Ishan kept in mind while purchasing 
mustard oil: 
(i)  Be aware about various goods and services available in the 

market so that an intelligent and wise choice can be made. 
 

(ii) Buy only standardised goods as they provide quality assurance 
and look for ISI mark on electrical goods, FPO mark on food 
products, Hallmark on jewellery etc.  

 
(iii)  Read labels carefully so as to have information about prices, net 

weight, manufacturing and expiry dates, etc.  
 
(iv) Ask for a cash memo on purchase of goods or services. This 

would serve as a proof of the purchase made. 
 

(If an examinee has only listed the underlined points, ½ mark 
for each point should be awarded) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
     = 1 x 4 
 
   = 4 marks 
 
 
 
 
 
 
 
 
 
 
 
 

28. (a) Q. Explain any four features of ‘Motivation’ as an element 
of the directing function of management. 

 
Ans. Features of Motivation (with explanation) 
(i) Internal feeling 
(ii) Produces goal directed behaviour 
(iii) Positive or negative 
(iv) Complex process  

 (If an examinee has not given the headings as above but has 
given the correct explanation, full credit should be given) 
 

OR 

      
 
 
½ mark for 
naming + ½ 
mark for 
explanation 
 

  = 1  x  4 
  = 4 marks 
 
      
 
OR 
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(b) Q. Explain any four financial incentives used to motivate 
employees. 
Ans. Financial Incentives (any four with explanation) 

(i) Pay and allowances 
(ii) Productivity linked wage incentives  
(iii) Bonus 
(iv) Profit Sharing 
(v) Co-partnership/ Stock option 
(vi) Retirement Benefits 
(vii) Perquisites 

(If an examinee has not given the headings as above but has 
given the correct explanation, full credit should be given) 
 
 

 
½ mark for 
naming + ½ 
mark for 
explanation 
 

  = 1  x  4 
  = 4 marks 
 

29. Q. Silk Ltd. had an EPS of ₹1. It raised a loan of ₹10 lakhs at 
an interest rate of 10% p.a. from a bank. After one year, the 
results were as follows: 
Details Amount 

Equity (Shareholders' Funds) 
(2,00,000 shares of ₹ 10 each) 

₹ 20 Lakh 

10% Loan ₹ 10 Lakh 

Earning Before Interest and Tax 
(EBIT) 

₹ 6 Lakh 

Earning Per Share (EPS) ₹ 2 

Tax rate 20%. 
(i) Why did EPS in Silk Ltd. rise with the use of debt? 
(ii) If EBIT of the company would have been ₹ 3 lakh, would 
using debt still be favourable for the company? Explain. 

 
Ans (i) The EPS in Silk Ltd. rose with the use of debt because 

the cost of debt is lower than the return that the company is 
earning on funds employed (ROI) which is known as Trading 
on Equity/ Favourable Financial Leverage. 

 
(ii) If EBIT of the company would have been ₹3 lakhs, using 

  
 
 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 1 mark  
 

    + 
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debt would not have been favourable for the company. 
Explanation 

 It is unfavourable for the company because the company’s rate 
of return on investment (ROI) is not more than the cost of 
debt. 

 The ROI of the company is (3 lakh/ 30 lakh) x 100 i.e. 10 %, 
and the interest rate on debt is also 10%. 

 In such a case, the EPS will be reduced to ₹0.8. This is a 
situation of unfavourable financial leverage. 
Alternative explanation 
EBIT                                  3,00,000 
Less: Interest @ 10%        (1,00,000) 
EBT                                     2,00,000 
Less: Tax@20 %                  (40,000) 
EAT                                      1,60,000 
No. of shares                         2,00,000 
EPS                                       ₹  0.8 
 
 Since EPS is falling, it is unfavourable. 

 

  
 
 
1 mark 

 
   
  + 
 

 2 marks for  
explanation 
 
 
 
 
 
 
 
 
 
= 1+ 1+2 
= 4 marks 

30. (a) Q. Explain any four psychological barriers to 
communication. 

 
Ans. Psychological Barriers (with explanation) 

(i) Premature evaluation 
(ii) Lack of attention 
(iii) Loss by transmission and poor retention 
(iv) Distrust 

(If an examinee has not given the headings as above but has 
given the correct explanation, full credit should be given) 
 

                                     OR 
(b) Explain any four measures to overcome the barriers to 

communication. 
 

 
 
 
½ mark for 
naming + ½ 
mark for 
explanation 
 

  = 1 x 4 
  = 4 marks 
      
           
 OR 
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Ans. Measures to overcome Communication Barriers (any four 
with explanation) 

(i) Clarify the ideas before communication 
(ii) Communicate according to the needs of receiver 
(iii) Consult others before communicating 
(iv) Be aware of languages, tone and content of message 
(v) Convey things of help and value to listeners 
(vi) Ensure proper feedback 
(vii) Communicate for present as well as future 
(viii) Follow up communications 
(ix) Be a good listener 

(If an examinee has not given the headings as above but has 
given the correct explanation, full credit should be given) 
 

 

 
½ mark for 
naming + ½ 
mark for 
explanation 
 

  = 1 x 4 
  = 4 marks 

 

 

31. Q. ‘Health Relax Ltd.’ is one of India's leading consumer 
healthcare brands in diagnostic services. It has an integrated 
nationwide network of diagnostic centres. The company was 
exploring new avenues for its expansion. The top level 
managers analysed the business environment and found that 
since the year 2023 was the International Year of Millets, it 
was expected that the global demand for millets will grow by 
around 5% annually. India being one of the leading producer 
and exporter of millets, it was realised that there was a great 
business opportunity in the millet industry. The Board of 
Directors approved the idea of venturing into the business of 
selling bread, noodles and dosa mix made of millets.  
The company had to restructure itself. It diversified into 
varied product categories and created a structure comprising 
of separate business units. Each unit had a manager 
responsible for performance who had authority over the unit. 
Manpower was grouped on the basis of different products 
manufactured. 
 
(i) Identify the type of organizational structure of Health 
Relax Ltd. after restructuring and give its meaning. 
 
(ii) Explain any two advantages and two disadvantages of the 
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type of organisational structure identified in the above case. 
 

Ans. (i) Divisional structure 
Divisional structure is an organisation structure which 
comprises of separate business units or divisions when the 
organisation has more than one category of products to offer. 
 
(ii) Advantages of Divisional structure: (any two) 

(a) Product specialization helps in the development of 
varied skills in the divisional heads and prepares him for 
higher positions. 

(b) It helps in fixation of responsibility as divisional heads 
are accountable for profits, as revenues and costs related 
to different departments can be easily identified and 
assigned to them. 

(c) It promotes flexibility and initiative because each 
division functions as an autonomous unit which leads to 
faster decision making. 

(d) It facilitates expansion and growth as new divisions can 
be added without interrupting the existing operations by 
merely adding another divisional head and staff for the 
new product line. 

 
         Disadvantages of Divisional structure: (any two) 

a) Conflicts may arise among different divisions with reference 
to allocation of funds. 

b) It may increase the cost of operations since there may be 
duplication of activities across products. 

c) Organizational interest may be ignored by different divisional 
heads as they may gain power and in a bid to assert their 
independence may ignore organizational interests. 

(If an examinee has not given the headings as above but have 
given the correct advantages and disadvantages, full credit should 
be given) 

 
 
 
 
1 mark for 
identification  

+ 
1 mark for the 
meaning 
 
 
          + 
 
  
    
 
 
   1 x 2  
 
 
 
 
 
 
 
 
 
          + 
 
 
      1 x2  
 
 
= 2+2+2 
 
 
= 6 marks 
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32.  (a) Q. Explain the following techniques of Scientific 
Management: 

(i) Time study 
(ii) Differential piece wage system 
(iii) Standardization and simplification of work 

 
Ans. Techniques of Scientific Management 

       (i) Time study 

 Time study is a technique which determines standard time 
required to perform a well-defined job. 

 The objective of time study is to determine the number of 
workers to be employed, frame suitable incentive schemes and 
determine labour costs.  
 

(ii) Differential Piece Wage System 
 Differential Piece Wage System is a technique which 

differentiates between efficient and less efficient workers. It 
rewards the efficient workers and motivates the less efficient 
ones to improve their efficiency. 

 In this plan, there are two wage rates – one for those workers 
who produce above the standard output, and the other for 
those who produce less than the standard output.  

 
(iii) Standardisation and simplification of work 

 Standardisation refers to the process of setting standards for 
every business activity, including  standardisation of process, 
raw material, time, product, machinery, methods or working 
conditions.  

 Simplification of Work aims at eliminating superfluous 
varieties, sizes and dimensions which results in savings of cost 
of labour, machines and tools. 
 

                                                     OR 
(b) Q. Explain the following Principles of Management: 

(i) Authority and Responsibility 
(ii) Centralization and Decentralization 
(iii) Initiative 

 

 
 
 
 
       
 
 
 
     2 
 
 
      
 
 
       + 
 
 
 
 
           2 
 
 
 
 
 
 
          + 
 
 
            2 
 
 
= 6 marks 
 
 
      OR 
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Ans.(i) Authority and Responsibility: 
 Authority is the right to give orders and responsibility is the 

corollary of authority. There should be a balance between 
authority and responsibility.  

 An organisation should build safeguards against abuse of 
managerial power. At the same time a manager should have 
necessary authority to carry out his responsibility.  
 

(ii) Centralisation and Decentralisation: 
 The concentration of decision-making authority is called 

centralisation whereas its dispersal among more than one 
person is known as decentralisation.  

 There is a need to balance subordinate involvement through 
decentralisation with managers’ retention of final authority 
through centralisation. 
 

(iii) Initiative 

 Workers should be encouraged to develop and carry out their 
plans for improvements. 

 A company should have an employee suggestion system 
whereby initiative/ suggestions which result in substantial 
cost/time reduction should be rewarded. 

 

 
 2 
 
 
    
 
 
      + 
 
 
 
 
           2 
 
 
 
 
 
 
          + 
 
 
            2 
 
= 6 marks      
 
      

33.  Q. BJ Pvt. Ltd. is a company manufacturing organic 
shampoos with the brand name 'Pure Shine'. This name will 
help the company in creating product differentiation. To 
satisfy the needs of the customers in the target market the 
company used natural ingredients like curry leaves, neem, 
rice, etc. The focus of the company is on satisfaction of 
customers needs. To have higher demand of shampoo it 
decided to fix a lower price in comparison to the other 
shampoos available in the market. To inform the customers 
about the shampoo and its features etc., the company used 
various promotional tools. For maximum satisfaction of 
customers, the company provides the contact details of the 
customer care centre to handle customer complaints. 
Identify and explain any three functions of marketing 
discussed in the above paragraph. 
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Ans.  Functions of marketing (any three): 

(i) Branding  
Branding is the process of giving a name to a product 
which helps in distinguishing the product of a firm with 
that of the competitor. 
 

(ii) Pricing  
Pricing refers to determining the price of a product, i.e., the 
amount of money customers have to pay to obtain a 
product. 
 

(iii) Promotion 
Promotion of products and services involves informing the 
customers about the firm’s product, its features, etc. and 
persuading them to purchase these products 
 

(iv) Customer Support services 
Customer support services include providing after-sales 
services, handling customer complaints and adjustments, 
procuring credit services, maintenance services, technical 
services and consumer information to provide maximum 
satisfaction to the customers. 

 

 
 
 
½ mark for 

identification 
+ 
 1 ½ marks for 

explanation 
 
 
 
 
 
 
 
 
= 2   x   3 
 
 
 
 
 
= 6 marks 

34.  (a) Q.  Distinguish between formal and informal organization 
by giving any four points. 
 
Ans. Distinction formal and informal organisation (any four): 

BASIS FORMAL 
ORGANISATION 

INFORMAL 
ORGANISATION 

Meaning It refers to a structure 
of authority 
relationships created 
by the management. 

It refers to a network of 
social relationships 
arising out of interaction 
among employees. 
 

Origin It arises as a result of 
company rules and 
policies. 
 

It arises as a result of 
social interaction. 

Authority Authority arises by 
virtue of position in 
management. 

Authority arises out of 
personal qualities. 

 
 
 
 
 
 
 
 
 
 
= 1 ½  x   4 
 
= 6 marks 
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Behaviour It is directed by rules. There is no set behavior 
pattern. 
 

Flow of 
communic
ation 

Communication takes 
place through the 
scalar chain. 

Flow of communication 
is not through a planned 
route. It can take place in 
any direction. 

Nature It is rigid. It is flexible. 
 

Leadership Managers are leaders. Leaders may or may not 
be managers. They are 
chosen by the group. 
 

 
 
                                                  OR 
 
(b) Q. Explain any four limitations of planning. 
 

Ans. Limitations of planning (any four with explanation) 
(i) Leads to rigidity 
(ii) May not work in a dynamic environment 
(iii) Reduces creativity 
(iv) Involves huge costs 
(v) Time-consuming process 
(vi) Does not guarantee success 
 

(If an examinee has not given the headings as above but has 
given the correct explanation, full credit should be given) 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 OR 
 
 
 
½ mark for 
naming 
+ 1 mark for 
explanation 
 
= 1 ½   x   4 
 
=6 marks 
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